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Q.1 Which of the following statement is correct about New Parliament building?

(A) A heritage panel comprised of 4 members gave its approval to the new Parliament
building.

(B) The project is expected to cost approximately Rs 971 crore.

(C) Building comes under the Central Vista redevelopment project started.

(D) It is being built by Larsen & Toubro.

Ans o 1.BandC

/5 2.AandB
< 3.AandD
/< 4.BandD

Question ID : 59445929317
Status : Answered
Chosen Option : 4

Q.2 Who among the following is the Chief Scientist in WHO?
Ans X 1. Dr. Hanan H. Balkhy

K 2. Dr Samira Asma
_J' 3. Dr Soumya Swaminathan

K 4. Poonam Khetrapal Singh

Question ID : 59445929309
Status : Not Answered
Chosen Option : --

Q.3 Which of the following statement is correct about The Amazon, the world’s most
biodiverse rainforest?

(1) The World's second largest rainforest
(2) It covers nearly 20 percent of the South American continent

Ans X' 1. Both 1and 2

( 2. Neither 1 nor 2

25 3. 1only
x 4.2 only

Question ID : 59445929314
Status : Answered
Chosen Option : 1




Q.4 Which one of the following Naval ships were on deployed to the Indian Ocean region
on ‘Mission Sagar'?

Ans X" 1. INS Vikrant
25 2. INS Magar
x 3. INS Jalashwa
of 4. INS Kesari

Question ID : 59445929308
Status : Answered
Chosen Option : 1

Q.5 Who among the following has been appointed by UNICEF (United Nations International
Children Education Fund) to advocate for promoting and supporting its work around
ending violence against children?

Ans “ 1. Ayushman Khurana
x 2. Ranbeer Kapoor
x 3. Aparshakti Khurana

5 4. Vicky Kaushal

Question ID : 59445929302
Status : Answered
Chosen Option : 1

Q.6 The National Centre for Polar and Ocean Research (NCPOR) and the Goa University
(GU) have successfully synthesized gold nanoparticles (GNPs) using Psychrotolerant
Antarctic:

Ans x 1. Fungus
x 2. Protozoa
x 3. Virus
o 4. Bacteria

Question ID : 59445929306
Status : Answered
Chosen Option : 2

Q.7 Which of the following nation ‘unintentionally’ shot down a Ukrainian Boeing 737-800
passenger aircraft in January 2020?

Ans 3" 1. North Korea

5 2.UsA
5 3.China
J 4. Iran

Question ID : 59445929305
Status : Answered
Chosen Option : 4




Q.8 Match List-I with List-IT and select the correct answer using the code given below the lists:

3
Ans  of 14

List-I (Sportsperson’s Name)

List-IT ( Award)

A. Chirag Chandrasekhar Shetty

1. Dronacharya award

B. Romesh Pathania

2. Tenzing Norgay National Adventure Award

C. Trupti Murgunde

3. Arjuna Award

D. Keval Hiren Kakka

4. Dhyan Chand Award

Code:
(@A B C D
1. 2 2 3
(A B C D
4 3 2 1
()A B C D
2 3 1 4
(dA B C D
1 4 2

Xz.a
XS.C
S4B

Question ID : 59445929320
Status : Not Answered
Chosen Option : --

Q.9 Which of the following statements is true about the inauguration of the Statue of

Ans

Unity?

(1) On Sardar Vallabhbhai Patel’s 100th birth anniversary, Prime Minister Narendra

Modi unveiled the Statue of Unity.

(2 Designed by Padma Bhushan recipient sculptor Ram V Sutar.

/<5 1.Both 1and 2

x 2. Neither 1 nor 2

x 3. 1only
\, 4.2 only

Question ID : 59445929313
Status : Answered
Chosen Option : 1




Q.10 Match Tist-1 with list Tist-2and select the correct answer by using the code given below the list.

List-1 (Government Scheme / List-2 (Objective of Scheme)
programme)
A. Hridaya Plan 1. Developing all the basic amenities in

more than 500 cities which have more
than one lakh population

B. UDAY 2. To take care of world heritage sites
and to make these sites economically
viable.

C. AMRUT Plan 3. Financial turnaround of Power
Distribution Companies of Public
Sector

Ans X" 1.A2,B-1,C3
o 2. A-2,B-3,C-1
25 3.A-1,B-2,C3
< 4.A3,B-2,C-1

Question ID : 59445929319
Status : Answered
Chosen Option : 2

Q.11 Which of the following statements is true about Pradhan Mantri MUDRA Yojana
(PMMY)?

(1) Under this scheme a loan up to 15 lakhs to the non-corporate, non-farm
small/micro enterprises can be provided.

(2) These loans are given by Commercial Banks, RRBs, Small Finance Banks, MFIs
and NBFCs.

Ans x 1. Neither 1 nor 2

#< 2.Both 1and 2

x 3. 1only
« 4.2 only

Question ID : 59445929315
Status : Answered
Chosen Option : 2

Q.12 For which sport did Mariyappan Thangavelu won Rajiv Gandhi Khel Ratna Award
20207

Ans 3 1. Golf
#< 2. Kabbadi
/5. 3. Basketball

“ 4. Para Athletics

Question ID : 59445929301
Status : Answered
Chosen Option : 4




Q.13 Match List-1 and List-2 and select the correct answer by using the code given below the list.

List-1 List-2

Name of the Author Name of the Book

A. Anita Desai 1. In Custody

B. Vikram Chandra 2. The English Teacher
C. R. K. Narayan 3. Sacred Games

D. Vikram Seth 4. The Golden Gate

Ans X' 1. A-2,B-1,C-3,D4
o 2.A-1,B-3,C-2,D4
/% 3.A-4,B-2,C-3,D-1

< 4.A-1,B-2,C4,D-3

Question ID : 59445929316
Status : Not Answered
Chosen Option : --

Q.14 Which company was the lowest bidder for the construction of the new parliament
building in September 2020?

Ans “ 1. Tata Projects Limited
x 2. Reliance
/& 3.L&TLtd

#% 4. Shapoorji Pallonji

Question ID : 59445929304
Status : Answered
Chosen Option : 3

Q.15 In how many phases, General Election to Lok Sabha-2019 was conducted in India?
Ans & 1 Five

“ 2. Seven
Z< 3. Nine
x 4. Three

Question ID : 59445929310
Status : Answered
Chosen Option : 1

Q.16 From where was Mission Shakti, an anti-satellite missile test was conducted ?
Ans x 1. Satish Dhawan Space Centre

J 2. Dr. AP J Abdul Kalam Island launch complex
x 3. Vikram Sarabhai Space Centre

X 4. Thumba Equatorial Rocket Launching Station

Question ID : 59445929303
Status : Answered
Chosen Option : 3




Q.17 Which of the following statements about Sushma Swaraj is/are correct?

Ans

x 1.2 only

x 2. Neither 1 nor 2

x 3.1 only

o 4.Both 1and 2

(1) In 1977, Sushma Swaraj became the youngest cabinet minister, at the age of 25, in
the Janata Party Govt., headed by then Chief minister Devi Lal.
(2) She contested against Sonia Gandhi in 1999.

Question ID : 59445929312
Status : Answered
Chosen Option : 3

Q.18 Who won the Bal Sahitya Puruskar 2019 in Hindi language?

Ans

x 1. Vijay Sharma

x 2. Kumarpal Desai
x 3. Devika Cariapa
“ 4. Govind Sharma

Question ID : 59445929307
Status : Not Answered
Chosen Option : --

Q.19 Match List-1 and List-2 and select the correct answer by using the code given below the list.

Ans

List-1 (Noble Prize)

List-2 (Name)

A. The Nobel Prize in Physics 2020

1. Harvey J. Alter, Michael Houghton
and Charles M. Rice

B. The Nobel Prize in Chemistry 2020

2. John B. Goodenough, M. Stanley
Whittingham and Akira Yoshino

C. The Nobel Prize in Physiology or
Medicine 2020

3. Roger Penrose

D. The Nobel Prize in Chemistry 2019

4. Emmanuelle Charpentier and Jennifer
A. Doudna

5 1.A1,B2,C4,D-3
/X 2.A-4,B-2,C-3,D-1
o 3.A-3,B-4,C-1,D-2

5 4.A1,B-4,C-3,D-2

Question ID : 59445929318
Status : Answered
Chosen Option : 2




Q.20 Consider the following statements about 66th National Film Awards, 2019.
(1) Best Actor award was received by Ayushmann Khurrana for Andhadhun, and Vicky
Kaushal for Uri.
(2) Best Male Playback Singer award was received by Armaan Malik for Binte Dil from
Padmaavat.

Which of the statements given above is/are correct?
Ans  of 1 1 only

x 2.2 only

x 3. Neither 1 nor 2

/X 4.Both 1and 2

Question ID : 59445929311
Status : Answered
Chosen Option : 4

Section : General studies

Q.1 Members of which of the following phyla are commonly known as sea walnuts?
Ans & 1. Arthropoda

“ 2. Ctenophora
x 3. Mollusca
/X 4. Platyhelminthes

Question ID : 59445929330
Status : Answered
Chosen Option : 3

Q2 Which of the following solutions can provide reforms in Indian agriculture?

Small and fragmented land holding
Distribution of assured quality seeds to farmers
Lack of mechanisation

il

Select the correct answer using the options given below.
Ans X1 2and3

« 2. 2 only

/< 3 1 only

&4 land3

Question ID : 59445929339
Status : Not Answered
Chosen Option : --

Q.3 Access to internet is the fundamental right under which article of the Indian
constitution?

Ans B 1 Article 22
< 2. Article 20
5 3. Article 21

o 4. Article 19

Question ID : 59445929326
Status : Answered
Chosen Option : 2




Q.4 Piyush Goyal is the minister of Railways as well as of which ministry?

Ans J 1. Ministry of Commerce and Industry
X 2. Ministry of Agriculture
< 3. Ministry of MSME

x 4. Ministry of Finance

Question ID : 59445929325
Status : Answered
Chosen Option : 1

Q.5 Consider the following statements regarding initiatives in the education sector in the recent past.

1. A national mission called NISHTHA (National Initiative for School Heads” and Teachers’ Holistic Advancement)
under the centrally sponsored scheme of Samagra Shiksha was launched in August 2019 to improve learning
outcomes at the elementary level.

2. Pradhan Mantri Innovative Learning Program (DHRUV) was launched to identify and encourage talented
students to enrich their skills and knowledge.

Which of the statements given above is/are correct?
Ans x 1. 2 0[]1}?
< 2. 1 only
v 3 Both 1 and 2
< 4 Neither 1 nor 2

Question ID : 59445929332
Status : Answered
Chosen Option : 3

Q.6 Consider the following statements about the Comptroller and Auditor General of India.
1. The office of the Comptroller and Auditor General in the Constitution of India is substantially modelled upon that of
the Auditor-General of India Act. 1935.
2. The Comptroller and Auditor General may be removed only on an address from both Houses of Parliament on the
grounds of 'proved misbehaviour' or 'incapacity’.
3. The term of office of the Comptroller and Auditor General shall be five years from the date on which he assumes
office.

‘Which of the statements given above is/are correct?

Ans 5 1. 1 only
K2 1,2and3
< 3 2and 3 only
« 2 1 and 2 only

Question ID : 59445929340
Status : Answered
Chosen Option : 4

Q.7 What is the height of elevation of the Peninsular plateau?
Ans & 1.300m

£% 2.250-500 m

o 3.600-900 m

25 4.150m

Question ID : 59445929327
Status : Answered
Chosen Option : 2




Q.8 Match List-T with List-IT and select the correct answer using the codes given below the lists.

List-I (Terms used in Ancient India) | List-II (Meanings of these words)

A. Bhukti 1. Copper coins

B. Kakini 2. An education centre often attached to a temple
C. Ghatika 3. Administrative unit

D. Rajuka 4. Official designation

Ans  of 1. A-3,B-1,C-2,D-4
X 2. A-3.B-2.C-1,D4
X 3. A4,B-2,C-3,D-1
X 4 A2, B-1,C-4,D-3

Question ID : 59445929336
Status : Not Answered
Chosen Option : --

Q9
1. Sunburn
2. Cataract
3. Skin cancer
4. Aging of the skin

What can be the effects of ozone depletion on human health?

Select the correct answer using the options given below.

Ans  of 1. 1,2 3and 4
< 2. 2and 3 only
/< 3 1and 2 only
< 4. 3 and 4 only

Question ID : 59445929338
Status : Answered
Chosen Option : 1

Q.10 Which of the following is a feature of the Peninsular river system in India?

1. The Peninsular rivers receive water only from rainfall.
2. These rivers flow across the young fold mountains and are still youthful in age.
3. These rivers have small basins and catchment area.

Select the correct answer using the codes given below.

Ans  of 1. | and 3
< 2. 1 only
X3 2and3
X 4 2only

Question ID : 59445929335
Status : Answered
Chosen Option : 1




Q.11 Who was the winner of the first Indian Premier League?

Ans X 1. Mumbai Indians
“ 2. Rajasthan Royals
#% 3. Kolkata Knight Riders

x 4. Chennai Superkings

Question ID : 59445929329
Status : Answered
Chosen Option : 2

Q.12 The Quit India Movement launched in 1942 was an important and decisive movement in the history of the Indian
National Movement.

1. An important meeting took place in August 1942 at Gowalia Tank in Calecutta in this regard.
2. Asignificant feature of Quit India Movement was the emergence of what came to be known as parallel
governments in some parts of the country. The first one was proclaimed in Ballia, in east UP, in August 1942,

Select the correct answer using the codes given below.

Ans X 1. Neither 1 nor 2
/ 2 Both1and2
« 3 2 only
X 4 1 only

Question ID : 59445929331
Status : Answered
Chosen Option : 4

Q.13 Which among the following is the lightest gas?
Ans 5 1. Neon

x 2. Carbon dioxide
x 3. Oxygen
{ 4. Hydrogen

Question ID : 59445929322
Status : Answered
Chosen Option : 1

Q.14 How many dance forms have been acknowledged by Sangeet Natak Akademi as
classical dance forms of India as on November 20207

Ans 5 1. six
o 2. Eight
x 3. Ten
x 4. Four

Question ID : 59445929324
Status : Answered
Chosen Option : 2




Q.15 Consider the following statements regarding the Principle of Centrifugation.
1. As per the principle, the lighter particles are forced to the bottom and the denser particles stay at the top when
spun rapidly.
2. This principle is applied in diagnostic laboratories for blood and urine tests.
3. This principle is applied in dairies and in homes to separate butter from cream.

Which of the statements given above is/are correct?

Ans %1 | only
X 2. 3 only
« 3 2and 3
/< 4 2only

Question ID : 59445929333
Status : Answered
Chosen Option : 3

Q.16 Consider the following statements about Hindustani music compositions.
1. Dhrupad is a serious and sober composition which demands effort from the vocal cords and lungs.
2. ‘Khayal’ is a word derived from Persian and implies 'idea’ or 'imagination’.
3. The Thumari is a light form based on the romantic religious literature inspired by the Bhakti Movement.
4. The Ghazal is yet another product of the Indonesian influence on Hindustani music.

‘Which of the statements given above are true?

Ans o 1. 1,2and 3

X2 3and4
/X 3 land?2
X 4 2and3

Question ID : 59445929337
Status : Not Answered
Chosen Option : --

Q.17 Match List-T with List-II and select the correct answer using the codes given below the lists:

List-I (Sports) | List-II (Players associated with these sports)

A. Cricket 1. Mohit Kamat

B. Badminton | 2. Jarman Preet Singh
C. Hockey 3. Rishi Reddy

D. Tennis 4. Washington Sundar

Ans 1. A-2 B-1, C-4,D-3
X 2. A Bel o022, D
X 3. A-1, B-4,C-3,D-2
W 4 A-4,B-1,C-2,D-3

Question ID : 59445929334
Status : Answered
Chosen Option : 4




Q.18 Dr A.P.J. Abdul Kalam has not written which one of the following books?
Ans J 1. Response in the Living and the Non-living

#< 2. Target 3 Billion
X 3. The Luminous Sparks

x 4. Advantage India: From Challenge to Opportunity

Question ID : 59445929323
Status : Answered
Chosen Option : 2

Q.19 Which of the following temples is located at Kanchipuram?

Ans  of 1. Ekambareswarar Temple
x 2. Sree Padmanabhaswamy Temple
X 3. Sri Venkateswara Swamy Vaari Temple

x 4. Arulmigu Ramanathaswamy Temple

Question ID : 59445929328
Status : Answered
Chosen Option : 4

Q.20 In which of the following states is the site of Bhimbetka situated?

Ans { 1. Madhya Pradesh

£< 2. Punjab

Z< 3. Tamil Nadu
#< 4. Chhattisgarh

Question ID : 59445929321
Status : Answered
Chosen Option : 3

Section : Numerical aptitude

420 after giving 30 percent discount. What is the value of x (in Rs. ) ?
Ans 5 1,375

X 2.325
o 3.300
< 4.400

Q.1 The cost price of an article is Rs. x. It is marked up by 100 percent and it is sold at Rs.

Question ID : 59445929341
Status : Answered
Chosen Option : 3




Q.2 The pie chart given here shows expenditures incurred by a family on various items
and their savings, which amount to Rs. 8,000 in a month.

Study the chart and answer the question based on the pie chart.

Housing, 105° Food. 120°

Saving. 60°
Other, 45°

Education. 30°

The ratio of the expenditure on food to the savings is:

Ans X' 1.4:3
K 2.3:2
321
X 43:4

Question ID : 59445929360
Status : Answered
Chosen Option : 3
Q.3 If the radius of a cylinder is tripled and the height is halved, then what is the ratio
between the new volume and the previous volume?
Ans 3 1.4:5
K232
K 3.6:2
o 49:2
Question ID : 59445929352
Status : Answered
Chosen Option : 2
Q.4 A grocer mixes two varieties of wheat and sells the mixture at ¥ 28 per kg to earn a profit of 25%. If the cost price of the
first variety is twice that of the second. and he has mixed them in the ratio 2 : 3, then find the price per kg of the cheaper
variety.
Ans X 1718
X2 320
X334
vzl
Question ID : 59445929344
Status : Not Answered

Chosen Option :




Q5 A rectangular wheat field has an area of 1682 sq.metres whereas its perimeter is 29% X 3° X 2° metres. If the length and
breadth are positive integers, then find the perimeter. (It is known that @, b, ¢ are positive integers.)

Ans  of 1 174 metres
X 2. 58 metres
x 3. 116 metres

x 4. 87 metres

Question ID : 59445929355
Status : Not Answered
Chosen Option : --

Q.6 Manoj can complete a work in 15 days working 8 hours in a day and Santosh can
complete it in 10 days working 9 hours in a day. If Manoj and Santosh together start
working for 6 hours per day, in how many days will they complete the work?

4
{18}

™ 212
K37

X a 1{)%

Ans

Question ID : 59445929346
Status : Answered
Chosen Option : 1

Q.7 At an election between three candidates P, Q and R, 20% of the votes polled were declared invalid. Out of the valid
votes P gets 30% votes. The remaining valid votes were shared by Q and R in the ratio 11 : 9, respectively. If P has
received 150 votes less than R. then find the total number of votes polled.

Ans  of 1. 12500
X 2. 9000
X 3. 10500
X 4. 15000

Question ID : 59445929345
Status : Answered
Chosen Option : 1




Q.8 The pie chart given below shows the number of cars sold in 6 countries. Number of
cars sold in a particular country are shown as a percentage of total number of cars
sold in these 6 countries.

A,
F. 11%
25% B,
20%
E,
17% C.
D, | 18%
9%

Which of the following statement(s) is/are correct?

1. Difference between the total central angle formed by A and F and total central angle
formed by C and D is 32.4 degrees.

1L. If the total number of cars sold in B, C and E is 12650, then the total number of cars
sold in these 6 countries are 23000.

Ans 51 Only Il

/& 2.0nlyl

< 3. Neither I nor Il
o 4.Both land II

Question ID : 59445929351
Status : Answered
Chosen Option : 2

Q.9 Two items were sold at Rs. 9000 each. The first was sold at 50 percent loss and the
second was sold at 50 percent profit. Find the total loss on selling both the items.

Ans & 1.Rs. 4500
£ 2. Rs. 2400
o 3.Rs. 6000
25 4.Rs. 1800

Question ID : 59445929343
Status : Not Answered
Chosen Option : --

Q.10 If an article is sold at a discount of 30% to the marked price. it makes a loss of 20%. At what per cent discount on the
marked price will it break even?

Ans x1_ 20%
X 2 10.5%
v 3 12.5%
X 4 15%

Question ID : 59445929347
Status : Not Answered
Chosen Option : --




QM What will be the square root of the remainder when 5 divides 1297¢?

Ans o 11
K29
K 3.4
X 42

Question ID : 59445929353
Status : Not Answered
Chosen Option : --

Q.12 Study the following table carefully and answer the question given below it:

Number of candidates appearing for an interview for a post in various Banks and
percentage of candidates qualifying.

Bank | Candidates Appearing | % of Candidates Qualifying
H 1500 14
| 2200 26
J 3000 17
K 980 20
L 1200 28
M 2500 21

What was the difference between the number of candidates who qualified in banks |
and J together and the number of candidates who did not qualify in the same banks?

Ans X" 1.3032

of 2.3036
< 3.3040
75 4.3028

Question ID : 59445929348
Status : Not Answered
Chosen Option : --

Q.13 60 percent students in a school are boys. 40 percent boys passed in the examination.
If 35 percent of total students passed the examination, then what percent of girls failed
the examination?

Ans  of 1.725

25 2.29
75 3.565
5 4.60

Question ID : 59445929350
Status : Not Answered
Chosen Option : --




Q.14

b2 +d4 +£5 aZ+cd4eb

2 3 2 & & b2 d“' fﬁ
Ifhi:%:%=16,thenﬁndﬂievaluenf\ja+c i +J =

Ans ¥1 257
16

xZﬁ

16

X3E

15

X4E

16

Question ID : 59445929354
Status : Not Answered
Chosen Option : --

Q.15 On selling 32 chairs at Rs. 2800, there is a loss equal to the cost price of 4 chairs. The
cost price of a chair is:

Ans o 1 Rs 100

X 2.Rs. 120
/X 3.Rs. 280
< 4.Rs. 98

Question ID : 59445929357
Status : Not Answered
Chosen Option : --

Q.16 Select the odd one from the following options.
Ans ' 1.02x0.5+0.3x05

25 2.04%05%x25x%05
o 3.15%004+04%05

< 4.02%0.7+0.2x0.55

Question ID : 59445929359
Status : Not Answered
Chosen Option : --

Q.17 Smaller diagonal of a rhombus is equal to length of its sides. If length of each side is 4
cm, then what is the area (in square cm) of an equilateral triangle with side equal to the
bigger diagonal of the rhombus?

ans 11243
X2 6
X312
X 4943

Question ID : 59445929358
Status : Not Answered
Chosen Option : --




Q.18 A is 5 percent more than B and B is 10 percent more than C, then by what percentage
is A more than C.

Ans X" 1. 20 percent
J 2.15.5 percent
x 3. 10 percent

x 4. 12 percent

Question ID : 59445929356
Status : Not Answered
Chosen Option : --

Q.19 If (2P + Q): (@ + R) = (Q - P): (Q - R) = 4: 3, then what is the value of P: Q: R?
Ans ' 1.57:8

K 2.4:6:9
o 38129
K 4435

Question ID : 59445929342
Status : Not Answered
Chosen Option : --

Q.20 A can complete a work in 5 minutes, B in 6 minutes and C in 8 minutes. The average
number of work completed per hour per worker for all three workers is:

Xz

Ans

57
X2 e
52
Ny
59
J4- e

Question ID : 59445929349
Status : Not Answered
Chosen Option : --

Section : Reasoning Logical aptitude

Q.1 In the following question, select the related number from the given alternatives.

49:245::37:148::47:7?
Ans & 1,185

K 2,132
o 3141
5 4.176

Question ID : 59445929376
Status : Not Answered
Chosen Option : --




Q.2 Treena reached the office before Dev but after Loki. Veer reached the office before
Treena but after Kiran reached the office. Loki reached the office just after Veer
reached the office. Who reached the office last?

Ans X 1. Treena

«‘ 2. Dev
x 3. Veer
x 4. Kiran

Question ID : 59445929368
Status : Answered
Chosen Option : 2

Q.3 Out of the given options, three are similar in a certain manner. However, one option is
NOT like the other three. Select the option which is different from the rest.

Ans x 1. Galaxy

#< 2. Constellation

“ 3. Star

x 4. Solar system

Question ID : 59445929365
Status : Answered
Chosen Option : 2

Q.4 In the following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true even if
they seem to be at variance from commonly known facts. Read all the conclusions and
then decide which of the given conclusion logically follows the given statements.

Statements:

. Some J are M.
Il. Some Q are J.
Conclusions:

I. No M is Q.
Il. Some M are J.

Ans x 1. Both conclusion | and Il follows
x 2. Neither conclusion follows
J 3. Only conclusion Il follows

x 4. Only conclusion | follows

Question ID : 59445929364
Status : Answered
Chosen Option : 4

Q.5 Varun, Anwar, Prachi, Fatima and Disha are sitting on a bench. Varun is sitting to the
left of Anwar, who is not sitting at extreme corners. Fatima is sitting in between Disha
and Varun. Prachi is sitting at extreme right. Who is to the right of Anwar?

Ans o 1 Prachi

x 2. Varun
x 3. Fatima
£% 4. Disha

Question ID : 59445929374
Status : Answered
Chosen Option : 1




Q.6 Select the option that is related to the third term on the same basis as the second term

Ans

is related to the first term.

SPY: ROX :: KIN: ?

25 1. LHM
X 2. JvH
o 3. JHM
25 4 LMH

Question ID : 59445929367
Status : Answered
Chosen Option : 3

Q.7 From the given question, find which figure comes after the four figures which are in

Ans

series?

O

<

<

K2

p 3

Question ID : 59445929370
Status : Answered
Chosen Option : 4

Q.8 By interchanging the given two signs which of the following equation(s) will be

Ans

correct?
+ and x;

1.16x9+2+3-5=17
1.43x11-44+11+11=10

o 1.Both land Il

#< 2. Neither I nor Il

% 3.0nly I
< 4.0nlyl

Question ID : 59445929372
Status : Answered
Chosen Option : 1




Q.9 Complete the following series.

€25, j100, 0225
Ans o 1 1400

/5 2.9400
< 3.u250
5 4.m250

Question ID : 59445929366
Status : Answered
Chosen Option : 1

Q.10 A% B means A is the wife of B, A # B means A is the brother of B, and A ¥ B means A is the son of B.
Which of the following expression indicates that P is the son of R?
Ans X 1. U%P#R*S
X2 S#R*P%U
V3 U%P#S*R
X4 SER*U%P

Question ID : 59445929373
Status : Answered
Chosen Option : 4

Q.11 In the question two statements are given, followed by three conclusions, I, Il and Il
You have to consider the statements to be true even if it seems to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any,
follows from the given statements.

Statement 1 : Some doctors are engineers.
Statement 2 : All engineers are lawyers.

Conclusion | : Some lawyers are doctors.

Conclusion Il : All lawyers are engineers.
Conclusion Il : Some engineers are doctors.

Ans 3" 1. Only conclusion | follows
J 2. Both Conclusion | and Il follows
% 3. All conclusions I, Il and Il follows

#< 4. Both Concluison Il and Il follows

Question ID : 59445929378
Status : Answered
Chosen Option : 3




Q.12 If a mirror is placed on the line XY, then which of the answer figures is the mirror
image of the given figure?
X

s

Y

Ans

v
i
&
N

Question ID : 59445929363
Status : Answered
Chosen Option : 3

Q.13 Sixboys - P, Q, R, S, T and U — are sitting around a circular table, not necessarily in
the same order. P and S are sitting together. Neither Q nor T is sitting adjacent to
either P or S. Who is sitting opposite R?

Ans X 1T
XK 2p
o 3.U
K48

Question ID : 59445929375
Status : Answered
Chosen Option : 3




Q.14 Select the term that will come next in the following series.

A12B,D15E,G18H,J21K, ?
Ans  of 1 M24N

/& 2.B23J
< 3. F27H
£ 4 F120

Question ID : 59445929362
Status : Answered
Chosen Option : 1

Q.15 Which of the answer figures is the exact mirror image of the given problem figure when the mirror is held vertically at
the left side of the figure?

Problem Figure:

@
e
Aigrlw

1 @
X<
nQGPLw

I
X2 |@e @
' ® 9

- @ )
Xo|l(9<a (9
...,quv

' @ D
Vi< @
wjpgrn

Ans

Question ID : 59445929379
Status : Answered
Chosen Option : 1




Q.16 Pointing to a man in a photograph a woman says, “He is the father of my only
daughter-in-law’s father-in- law”. How is the man related to the woman?

Ans < 1. Brother
“ 2. Father-in-law

x 3. Brother-in-law

x 4. Father

Question ID : 59445929361
Status : Answered
Chosen Option : 4

Q.17 Identify the diagram that best represents the relationship among the given classes.

Insects, Tiger, Deer
Ans

r 0

3OO®

Question ID : 59445929369
Status : Answered
Chosen Option : 4

Q.18 Three statements are followed by three conclusions numbered I, IT and III. You have to consider these statements to be
true. even if they seem at variance from commonly known facts. Decide which of the given conclusions logically
follow(s) from the given statements.

Statements:

1. All papers are stationery.
2. Some stationery are books.
3. No book is a pen.

Conclusions:
I Some pens are books.

II. No paper is a pen.

1I1. Some stationery are papers.

Ans X 1. Only conclusions IT and ITI follow.
/< 2. Only conclusion I follows.
#< 3. Only conclusions I and II follow.
v 2 Only conclusions III follows.

Question ID : 59445929377
Status : Answered
Chosen Option : 4




Q.19 Select the figure that will come next in the following series.

Question Figure:

Ans

SIRI =

Question ID : 59445929371
Status : Answered
Chosen Option : 4

Q.20 Eight ministers A, B, C, D, E, F. G and H are sitting on a bench in two rows facing each other. Each row has four
ministers. H and F are diagonally opposite to each other. G is to the immediate left of D. G and F are not sitting on the
same bench. D is at one of the corners. C is sitting between E and B. Who is sitting opposite to A?

Ans x1. F
X2 E
X3D
v C

Question ID : 59445929380
Status : Answered
Chosen Option : 4

Section : English

Q.1 In the following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.

In a nutshell

Ans x 1. In a complex situation

x 2.In a hurry

x 3. To write angrily
{ 4. To be very brief

Question ID : 59445929398
Status : Answered
Chosen Option : 1




Q.2 Select the word that is opposite in meaning (ANTONYM) to the word given below

Impregnable
Ans X" 1. Unassailable

Z5 2. Inviolable

J 3. Vulnerable

25 4. stout

Question ID : 59445929400
Status : Answered
Chosen Option : 3

Q.3 Select the most appropriate meaning of the given idiom

High and mighty.
Ans x 1. Good news

x 2. Very quick

J 3. Arrogant

£% 4. Good Luck

Question ID : 59445929395
Status : Answered
Chosen Option : 3

Q.4 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form
a meaningful and grammatically correct sentence.

The advice that only you

P: so prevalent perhaps because it offers
Q: with the illusion of control in a situation
R: can give yourself closure is

S: the person who has been broken up

where realistically none exists.
Ans & 1.RPQS

& 2.PSRQ

o 3.RPSQ

5 4.PSQR

Question ID : 59445929391
Status : Not Answered
Chosen Option : --

Q.5 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans & 1. Adaquate
x 2. Adequete
x 3. Adaquete

“ 4. Adequate

Question ID : 59445929393
Status : Answered
Chosen Option : 4




Q.6 Find the part of the given sentence that has an error in it. If there is no error, choose

Ans

‘No error’.

I want all the (1)/ workers to join (2)/ the immediately meeting. (3)/ No error (4)

J 1. the immediately meeting.

x 2. No error

x 3. workers to join

Z5 4.l wantall the

Question ID : 59445929381
Status : Not Answered
Chosen Option : --

Q.7 Fill in the blank with the appropriate word.

Ans

The Bill increases the penalty to
of up to Rs 10,000, or both.

x 1. discharge
x 2. banishment

J 3. imprisonment

#< 4. liberation

between three and six months, or fine

Question ID : 59445929386
Status : Answered
Chosen Option : 1

Q.8 Select the word segment that substitutes (replaces) the bracketed word segment

Ans

“ 1. was in formals except Tanmay and me.
x 2. was in formals except Tanmay and |.

x 3. were in formals except Tanmay and |.

x 4. No correction required

correctly and completes the sentence meaningfully. Select the option 'no correction
required' if the sentence is correct as given.

Everyone waiting for their turn for the interview (were in formals except Tanmay and
me).

Question ID : 59445929387
Status : Answered
Chosen Option : 3

Q.9 Select the most appropriate ‘one word * for the expressions given below.

Ans

Having an ample quantity of something.

£5 1. Dearth

x 2. Comfort
“ 3. Abundance

x 4. Scarcity

Question ID : 59445929394
Status : Answered
Chosen Option : 3




Q.10 Select the word that is closest in meaning (SYNONYM) to the word given below

Antipathy
Ans " 1. Relish

5 2. Affinity

“ 3. Antagonism

x 4. Rapport

Question ID : 59445929396
Status : Answered
Chosen Option : 1

Q.11 The sentence below has four parts (A, B, C, and D). One part has a grammatical error.
Identify the part.

He has been spending (A)/ a lifetime (B)/ imbibing (C)/ his local club’s history. (D)
Ans X 1. alifetime

25 2. imbibing
“ 3. He has been spending

X 4. his local club’s history

Question ID : 59445929383
Status : Answered
Chosen Option : 2

Q.12 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans x 1. Kaliedoscope
J 2. Kaleidoscope
x 3. Kalidiscope

x 4. Kaleidiscope

Question ID : 59445929397
Status : Answered
Chosen Option : 2

Q.13 Select the word that is closest in meaning (SYNONYM) to the word given below

Obliterate
Ans x 1. Hansom

/X 2. Establish

J 3. Extirpate

£< 4. Epistle

Question ID : 59445929399
Status : Answered
Chosen Option : 2




Q.14 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no correction
required' if the sentence is correct as given.

Neither did he give his term paper, (or his assignments).
Ans x 1. nor his assignments

J 2. nor did he submit his assignments
x 3. No correction required

x 4. or did he submit his assignments.

Question ID : 59445929385
Status : Answered
Chosen Option : 2

Q.15 Fill in the blank with the appropriate word.

We can only to a few of the measures which received his efficient support
Ans o 1 allude

x 2. prelude
x 3. prude
x 4. exude

Question ID : 59445929389
Status : Answered
Chosen Option : 1

Q.16 Fill in the blank with appropriate word.

His performance was absolutely disaster!
Ans x 1. an undermined

f 2. an unmitigated

x 3. an unjust

Z< 4. amitigated

Question ID : 59445929388
Status : Answered
Chosen Option : 1

Q.17 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form
a meaningful and grammatically correct sentence.

The soldiers were

P. lines and with little to no artillery; the battle seemed
Q. battle with the enemy

R. engaged in an uphill

S. forces, behind the enemy

lost but the soldiers didn't lose their morale at all.
Ans 3 1 RPSQ

/< 2.RsPQ

o 3.RQSP

5 4.RQPS

Question ID : 59445929390
Status : Answered
Chosen Option : 3




Q.18 The sentence below has four parts (A, B, C, and D). One part has a grammatical error.
Identify the part.

Insulin secretes (A)/ in response to (B)/ rising levels of glucose (C)/ in the blood. (D)
Ans X 1.in the blood

/5 2.in response to
qf 3. Insulin secretes

£< 4. rising levels of glucose

Question ID : 59445929382
Status : Answered
Chosen Option : 4

Q.19 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.

The three brothers decided to distribute the chocolates themselves.
Ans 3 1. across

x 2. above
q, 3. among

x 4. between

Question ID : 59445929384
Status : Answered
Chosen Option : 3

Q.20 In the following question, there are six sentences marked S1, S6, P, Q, R, S. The
positions of S1 and S6 are fixed. You are required to choose one of the four
alternatives which would be the most logical sequence of the sentence in the passage.

S1. You live either in a village or a town of India.

P: Many villages and towns form a tehsil or a taluka.

Q: There are also some areas in our country called Union Territories.

R: Many tehsils of talukas form a district and many districts form a State.
S: These, together with all the states of our country make India.

$6. India is our motherland.

Ans  of 1. PROS
5 2.QPRS
/< 3.PQRS
/5 4.RPQS

Question ID : 59445929392
Status : Answered
Chosen Option : 1
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Q.1 Which of the following statement is correct about Swedish environmental activist
Greta Thunberg?

(1) She was featured as TIME's Person of the Year 2020 in Times Magazine
(2) She gave speeches at the World Economic Forum in Davos, Switzerland, and at the
European Parliament as well as in front of the legislatures of Italy

Ans X 1. Neither 1 nor 2

x 2.1 only
« 3. 2 only

75 4.Both 1and 2

Question ID : 59445929414
Status : Answered
Chosen Option : 4

Q.2 Which of the following three statements are true?

(A) In August 2020 Air India Express Flight 1344 Crashed after overrunning the
Runway at Calicut International Airport, Kerala.

(B) In September 2020 the court acquitted all the 32 accused of the Demolition of the
Babri Masjid.

(C) In October 2020 Madhya Pradesh government approved an anti-conversion bill.

D) In June 2020 the Cyclone Nisarga hit the western coast of India, causing damage in
the state of Maharashtra.

Ans X" 1. A BandC
/5 2.B,Cand D
& 3.ABandD

75 4.A,CandD

Question ID : 59445929416
Status : Not Answered
Chosen Option : --

1/33
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Q.3 Joaquin Phoenix won the Oscars 2020 award in the category of “Performance for an
Actor in a Leading Role” for the movie:

Ans X" 1. Marriage Story

X 2. Once Upon a time in Hollywood

o 3. Joker

X 4. Pain and Glory

Question ID : 59445929405
Status : Answered
Chosen Option : 3

Q.4 Match List-1 and List-2 and select the correct answer by using the code given below the list.

List-1 (Company) | List-2 (CEO)

A. Uber 1. Ren Zhengtei

B. Huawei 2. Dara Khosrowshahi
C. Zoom 3. Reed Hastings

D. Netflix 4. Eric Yuan

Ans X" 1 A-1,B-4,C-3, D-2
75 2.A-1,B-2,C-4,D-3
o 3.A-2,B1,C4,D3

#< 4.A-2,B-1,C-3,D-4

Question ID : 59445929417
Status : Answered
Chosen Option : 3

Q.5 Match List-1 and List-2 and select the correct answer by using the code given below the list.

Ans

List-1 (Name of the Author)

List-2 (Name of the Book)

A. Vladimir Nabokov

1. Lord of the Flies

B. F. Scott Fitzgerald

2. War and Peace

C. William Golding

3. Lolita

D. Leo Tolstoy

B

. The Great Gatsby

o 1.A3,B4 C1,D2
/5 2.A-1,B-2,C-4,D-3
/< 3.A-4,B-2, C-3, D-1

/X 4.A-1,B-3,C-2, D-4

Question ID : 59445929415
Status : Answered
Chosen Option : 1

2/33
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Q.6 Who is the recipient of First Prof. P C Mahalanobis Award in Official Statistics for
lifetime achievement?

Ans J 1. C.Rangarajan
/5 2. Bimal Jalan
x 3. Dr. D. Subbarao

X 4. M Narasimham

Question ID : 59445929402
Status : Answered
Chosen Option : 4

Q.7 India ranked in the 12th edition of the biennial Environment Performance
Index (EPI Index 2020) that measured the environmental performance of 180 countries.

Ans " 1,101
/X 2.178
of 3. 168
X 4,121

Question ID : 59445929404
Status : Answered
Chosen Option : 4

Q.8 Consider the following statements about Booker Prize 2020.

(1) Douglas Stuart's won this award.
(2) He received this award for his novel The Testaments

Which of the statements given above is/are correct?
Ans X 1. Neither 1 nor 2

/X 2.20nly

7% 3.Both 1and 2

J 4.1 only

Question ID : 59445929411
Status : Answered
Chosen Option : 3

3/33
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Q.9 Every year, 22 December is celebrated as National Mathematics Day. Which of the
following statements is/are INCORRECT regarding the day?

1. The day was declared as National Mathematics Day to commemorate the birth
anniversary of Mathematician Srinivasa Ramanujan by Prime Minister Manmohan
Singh on 26 February 2012 at Madras University

2. In 1917, Ramanujan was elected to be a member of the London Mathematical
Society

3. In 2015, the day's significance was enhanced by the opening of the Ramanujan Math
Park in Andra Pradesh

4. The number 1729 is known as the Hardy—Ramanujan number

Select the correct answer using the code given below.
(a) 1 only
(b) 2 and 4 only

(c) 3 only
(d) 2 and 3 only

Ans X1 d
Woc
X 3a
X 4b

Question ID : 59445929420

Status : Not Answered

Chosen Option : --

Q.10 The work for which Sindhi poet and writer Vasdev Mohi won the Saraswati Samman for
the year 2019 is titled:

Ans « 1. Chequebook

75 2. Vakhar

75 3. Pakkaki Ottigilite

/5 4. Chitt-Chete

Question ID : 59445929406

Status : Answered

Chosen Option : 3

Q.11 Which of the following statements about Vande Bharat Express are correct?

A) It is also known as Train 18.

B) The train is partly produced locally at the Integral Coach Factory in Chennai.
C) It is a semi-high speed train.

D) It will run between Mumbai and Ahmedabad.

Ans X" 1 AandB

o 2.AandC
/X 3.BandD

75 4.A CandD

Question ID : 59445929403

Status : Answered

Chosen Option : 1

4/33
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Q.12 Which of the following statements is true about the recent procurement of Tejas
fighter’s aircraft by IAF?

(1) The IAF has recently purchased 83 Tejas fighters aircraft from HAL
(2) The total deal is of Rs. 78,000-crore

Ans { 1.1 only
/5 2.Both 1and 2

x 3. Neither 1 nor 2

X 4.2 only

Question ID : 59445929413
Status : Answered
Chosen Option : 2

Q.13 On 30th December 2020, the Union Minister of Health and Family Welfare Dr Harsh
Vardhan was nominated by the Global Alliance for Vaccines and Immunisation (GAVI).
Which of the following statements related to GAVI is/are CORRECT?

1. GAVI was created in 2000 as a successor to the Children's Vaccine Initiative, which
had been launched in 1990.

2. GAVI was awarded the 2019 Lasker-Bloomberg Public Service Award for ‘providing
sustained access to childhood vaccines around the globe'

Select the correct answer using the code given below.
Ans x 1.2 only

75 2. 1only

75 3. Neither 1 and 2

o 4.Both 1 and 2

Question ID : 59445929419
Status : Not Answered
Chosen Option : --

Q.14 Which one of the following offices was brought under Right to Information Act in
20197

Ans x 1. Comptroller and Auditor General of India
x 2. Attorney general of India
« 3. Chief Justice of India

#< 4. Chief Vigilance office

Question ID : 59445929408
Status : Answered
Chosen Option : 1

5/33
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Q.15 From which of the following launch bases was India's telecommunication satellite
named GSAT-30 launched?

Ans X" 1. Baikonur Cosmodrome
X 2. Kennedy Space Centre
J 3. Kourou Launch Base

X 4. Satish Dhawan Space Centre

Question ID : 59445929410
Status : Answered
Chosen Option : 4

Q.16 Which of the following statements about former United States President Donald Trump
is/are correct?

(1) He is the first US president to be impeached twice
(2) He was the 44th president of the United States

Ans X" 1. Both 1and 2

X 2.2 only

x 3. Neither 1 nor 2

J 4.1 only

Question ID : 59445929412
Status : Answered
Chosen Option : 1

Q.17 Match List-1 with List-2 and select the correct answer by using the code given below the list.

List-1 (Name of Government Scheme) | List-2 (The Year of Launch)

A. Pradhan Mantri Matsya Sampada 1.2014
Yojana

B. Pradhan Mantri Garib Kalyan Yojana | 2. 2016
(PMGKY)

C. Shramev Jayate Yojana 3.2020

Ans  off 1 A3 B2 C-1
/X 2.A-1,B-2,C-3
75 3.A2,B-3,C-1
/X 4.A-2,B-1,C-3

Question ID : 59445929418
Status : Not Answered
Chosen Option : --

6/33
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Ans

Q.18 Who among the following won the World Food Prize 20207

o 1. Rattan Lal
#< 2. Nadia Murad
/5 3. Gurdev Singh Khush

x 4. Norman Borlaug

Question ID : 59445929409
Status : Answered
Chosen Option : 3

Ans

Q.19 For which sport did Kale Sarika Sudhakar won the Arjuna Award 2020?

75 1. Basketball

W 2. Knhokho

/5 3. Kabbadi

X 4. Golf

Question ID : 59445929401
Status : Answered
Chosen Option : 2

Ans

Q.20 Who is first ISRO woman to have completed 403 days in Antarctica?

75 1. Chandrima Saha
J 2. Mangala Mani
75 3. Muthayya Vanitha

/X 4. Ritu Karidhal

Question ID : 59445929407
Status : Answered
Chosen Option : 4

Section : General studies

Q1

Ans

Gully erosion is primarily due to:
1. water
2. wind
3. shifting agriculture

Select the correct answer using the codes given below.

/<1 land3
/< 2. 2 only
« 3 1 only
/4 2and3

Question ID : 59445929439
Status : Answered
Chosen Option : 1

7/33
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Q.2 Which of the following evidence prove/s that the Himalayas are still rising?
1. The frequent occurrence of earthquakes in the Himalayan region shows that the Himalayas have not yet attained an
isostatic equilibrivm and they continue to rise further.
2. The Himalayan rivers have small basins and catchment area.
3.Some of the fossil formations found in the Shiwalik hills are also available in the Tibet Plateau.

Select the correct answer using the codes given below.

Ans %12 only
/< 2. 1 only
#< 3. 1,2 and 3 only
4 1and3

Question ID : 59445929435

Status : Not Answered

Chosen Option : --

Q.3 Consider the following statements regarding Karnataka music compositions.

. The vocal form ‘rangam-tanam-pallavi' is generally the main item in Kamataka music concerts.

. The Kriti is perhaps the most popular form in Karnataka music.

The Tillana is the south Indian musical counterpart of the north Indian tarana - rhythmic and fast in tempo.
In Kamnataka music, there was no influence of bhakti in its development.

T

‘Which of the statements given above are correct?

Ans 1. 3 and 4 only
#< 2. 2 and 3 only
/< 3. 1 and 2 only
4 1,2and 3

Question ID : 59445929437

Status : Not Answered

Chosen Option : --

Q.4 Match List-I with List-II and select the correct answer using the codes given below the lists.

List-I (Sports) | List-IT (Players associated with these sports)
A. Cricket 1. Saketh Myneni

B. Badminton | 2. HS Prannoy

C. Hockey 3. Krishan B Pathak

D. Tennis 4. Hanuma Vihari

Ans X 1. A-1,B-4,C-3,D-2
X 2 A-3,B-2,C-1,D-4
X 3 A-2,B-1,C-4,D-3
v 4 A-4,B-2,C-3,D-1

Question ID : 59445929434

Status : Answered

Chosen Option : 4

8/33
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List-I (Terms used in ancient India) | List-IT (Meanings of these terms)

A. Sethi 1. A heterodox sect of the time of the Buddha
B. Kutumbi 2. A territorial unit in south India

C. Nadu 3. Householder

D. Ajivika 4. Merchant

Ans %1 A-3 B-2,C-1,D-4
v 2 A-4,B-3,C-2,D-1
X 3. A-2,B-1, C-4,D-3
X 4. A-1,B-4,C-3,D-2

Q.5 Match List-I with List-IT and select the correct answer using the codes given below the lists.

Question ID : 59445929436
Status : Answered
Chosen Option : 2

Ans  of 1 Radon
75 2. Hydrogen
75 3. Helium
75 4. Argon

Q.6 Which among the following is the heaviest gas?

Question ID : 59445929423
Status : Answered
Chosen Option : 1

Ans X" 1. Satya Nadella
X 2. Rajiv Suri
x 3. Indra Nooyi

o 4. sundar Pichai

Q.7 Who is the first Indian CEO of Google?

Question ID : 59445929427
Status : Answered
Chosen Option : 4

9/33
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Q.8 Which of the following sentence is/are correct about crop rotation?

1. Crop rotation helps return nutrients to the soil without synthetic inputs.
2. Crop rotation is the practice of planting different crops sequentially on the same plot of land to improve soil health.
3. Crop rotation deteriorates the soil structure as same nufrients are used time and time again.

Ans X' 1. 1and3
/< 2. 3 Only
/< 3. 1 Only
4 land2

Question ID : 59445929440
Status : Not Answered
Chosen Option : --

Q.9 How does air pollution affect living organisms?

. Sulphur dioxide irritates the respiratory tissues.

. Nitrogen oxides, especially NOz, can irritate the lungs.

. Suspended particles in the air aggravate our respiratory tract, leading to bronchitis and asthma.

. Many volatile organic compounds and toxic particulates can cause mutations, reproductive problems or cancer.

A N

Select the correct answer using the codes given below.

Ans 1. 3 and 4 only
7< 2. 2 and 3 only
#< 3 1 and 2 only
4 1,2,3and4

Question ID : 59445929438
Status : Not Answered
Chosen Option : --

Q.10 Who out of the following is a maestro of Santoor?

Ans x 1. Pandit Hariprasad Chaurasia
o 2. Pandit Shivkumar Sharma
75 3. Ustad Alla Rakha

7% 4. Pandit Ajoy Chakraborty

Question ID : 59445929428
Status : Answered
Chosen Option : 1

Q.11 Who was the first chairman of ISRO?
Ans x 1. Satish Dhawan

X 2. M.GK. Menon
( 3. Vikram Sarabhai

x 4. Udupi Ramachandra Rao

Question ID : 59445929426
Status : Answered
Chosen Option : 1

10/33
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Q.12 Where is the Salar Jung Museum located?
Ans J 1. Hyderabad

X 2. Kanpur
x 3. Bengaluru

75 4. Bhopal

Question ID : 59445929422
Status : Answered
Chosen Option : 1

Q.13 Kud dance is one of the most popular folk dances of
Ans x 1. Kerala

x 2. Madhya Pradesh

x 3. Haryana

J 4. Jammu and Kashmir

Question ID : 59445929429
Status : Answered
Chosen Option : 2

Q.14 In April 2018, who among these became the highest ranked men's badminton player in
the world?

Ans  of 1. srikanth Kidambi
#5 2. Rajyavardhan Singh Rathore
x 3. P.Gopichand

x 4. Parupalli Kashyap

Question ID : 59445929430
Status : Answered
Chosen Option : 1

Q.15 Which instrument is predominantly used in both, Hindustani and Carnatic music? It
does not play melody but supports the singer or another instrument.

Ans x 1. Sitar

x 2. Mridangam

J 3. Tanpura
x 4. Veena

Question ID : 59445929421
Status : Answered
Chosen Option : 4
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Q.16

Ans

Which of the following statements defines ‘chromatography’?

1. It is the process of separation of components of a mixture.
2. It is used to separate colours in a dye.
3. It is used to separate a mixture of oil and water.

Select the correct answer using the codes given below.
< 1. 2 only
/< 2. 3 only
3 land2
X 4 2and3

Question ID : 59445929433
Status : Answered
Chosen Option : 3

Q.17

Consider the following initiatives taken to improve female labour work participation rate in the recent past.

1. Women Helpline Scheme (WHL) has been implemented since 1 April 2016 to provide 24 hours emergency and
non-emergency response fo women affected by violence and to provide information about women-related
government schemes/programmes across the country through a single uniform number (185)

. The One Stop Centre (OSC) scheme facilitates access to an integrated range of services including police.

medical, legal. psychological support and temporary shelter to women affected by violence. One Stop Centres are
being set up in all districts of the country.

s

Which of the statements given above is/are cotrect?

Ans

Ans X 1. Neither 1 nor 2

< 2. 1 only

v 3 2only

/< 4 Both 1 and 2

Question ID : 59445929432
Status : Not Answered
Chosen Option : --

Q.18

The crystallisation technique is better than the simple evaporation technique and:

1. *crystalisation’ is a process that separates a pure solid in the form of its crystals from a solution
2. it is applied for purification of salt that we get from sea water
3. it is applied for separation of crystals of alum from impure samples

Select the correct answer using the code given below.

« 1 1,2and3
/< 2. 1 only
/< 3. 2 only
#< 4. 3 only

Question ID : 59445929431
Status : Answered
Chosen Option : 1
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Q.19 What is one - half of the wave height called?
Ans X" 1. Wave speed

J 2. Wave amplitude
X 3. Wave period

X 4. Wave frequency

Question ID : 59445929425
Status : Answered
Chosen Option : 3

Q.20 Which of the following institutions was formed in 1960 to assist the poor countries
which could not afford to borrow capital at market rates?

Ans J 1. International Development Association
x 2. International Chamber of Commerce
x 3. World Health Organisation

x 4. International Business Organization

Question ID : 59445929424
Status : Answered
Chosen Option : 1

Section : Numerical aptitude

Q.1 A deposits an amount x at 5% per annum simple interest in a bank. His brother B
deposits an amount y at 10% annual interest compounded annually. After 1 year, the
interest received by B is twice the interest received by A. What is the value of y : x?

Ans X" 1.3:2
o 21:1
53201
K 4.2:3

Question ID : 59445929451
Status : Answered
Chosen Option : 2

Q.2 Sunny and Bunny together have Rs. 3450. If 2/9 of Sunny's amount is equal to 7/3 of
Bunny's amount . How much amount does Bunny have?

Ans  of 1 Rs 300

75 2.Rs. 845

75 3.Rs. 2340
75 4.Rs. 3150

Question ID : 59445929446
Status : Answered
Chosen Option : 1
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Q.3 Average of 8 students is 15 years. If two more students of age 20 and 10 years join.
What will be the new average age?

Ans ' 1 25
X 2.20
75 3.10

J 4. Remain same

Question ID : 59445929458
Status : Answered
Chosen Option : 4

Q.4 If aand b are two real numbers such that b > a, ab < 0, the sum of their squares is 458
and the difference between their squares is 120, then find the value of a - b.

Ans X' 1.4

V2 30

/X 3.30

X4 4

Question ID : 59445929448
Status : Not Answered
Chosen Option : --

Q.5

Find the value ofJ(1+3 e S0 (1—%) (1—%) (1 —%)(1 —L)

Ans o1 3
X 2.4
K 3.2
X 43

Question ID : 59445929449
Status : Answered
Chosen Option : 1

Q.6 A vegetable seller had some apples. He sells 50% apples and still has 650 apples left.
Originally, he had apples.

Ans  of 11300
75 2.850
/X 3.700
75 4.1200

Question ID : 59445929459
Status : Answered
Chosen Option : 1
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Q.7 Line-graph given below shows the total no. of products in two different stores P & Q in
five different years.

90
20
70
&0
50
40
30
20
10

0

Mo of product

2008 2009 2010 2011 2012

Years =

=fe=Stote P =L=Store

What is the difference between total number of products in store Q in year 2010 & 2011
together and total number of products in store P in year 2008 and 2012 together?

Ans X 1.20
K 2.15
o 385
/X 4.90

Question ID : 59445929460
Status : Answered
Chosen Option : 3

Q.8 The given bar graph shows the export of jute by a company over the vears 2011 to 2017.

15
11.4
10.8 a5 9.9
10 7.8

6.5
5.2

2011 2012 2013 2014 2015 2016 2017
Years

Export of Jute (in Crores)

Which of the following pairs of vears has the maximum percentage of decrease in export?
Ans 1. 2014-2015

v 2 2015-2016

< 3 2012-2013

< 4. 2011-1012

Question ID : 59445929445
Status : Answered
Chosen Option : 2
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Q.9 A can finish a task in 6 days by working for 8 hours/day and B has the capacity to
finish the same task in 8 days by working for 6 hours/day. In how many days will they
finish it together by working 4 hours a day?

Ans  of 1 6days
75 2.12 days
/X 3.9days
75 4.8 days

Question ID : 59445929452
Status : Answered
Chosen Option : 1

Q.10 If (x +2) isa common factor of x% — (2 +v2)x + 2vZ and x% — 24/2x + 2, then the value of '(Swﬁ— 3)3\5 is:

Ans  of 15
X 2.4
K 3.8
X 42

Question ID : 59445929456
Status : Not Answered
Chosen Option : --

Q.11 Rama did a survey where she asked all the people in her apartment to name their
favourite pet. The results are shown in the pie-chart. If 48 people said their favourite
pet was a rabbit then, how many persons said that their favourite pet was a cat?

Favourite pet of people

None
%

Ans " 1 84
75 2.30
/X 3.18
of 4 108

Question ID : 59445929447
Status : Answered
Chosen Option : 4
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Ans

X 1.36
75 2.90
o 3.252
75 4.270

Q.12 L.C.M. of two numbers is 15 times of their H.C.F. The product of numbers is 4860. What
will be the maximum possible difference between the numbers?

Question ID : 59445929443
Status : Answered
Chosen Option : 3

Ans

Q.13 A number is divided into two parts in the ratio of 5 : 6 respectively. The sum of 60

percent of first part and 50 percent of second part is 84. If both parts are increased by
10, then what will be the respective ratio between the sum of old numbers and new

numbers?

K 1.75:
X 2.73:
37
K47

87

87

87

. 87

Question ID : 59445929442
Status : Answered
Chosen Option : 3

Ans

75 1.200
75 2.100
/X 3.250
W 4. 150

Q.14 1f the value of x satisfies the equation

=202 then the sum of all the possible values of x is?

Question ID : 59445929455
Status : Answered
Chosen Option : 2

Ans

K13
X 22
o 31
X 44

Q15 The remainder when 731732 s divided by 9 is ‘a’. Then the unit’s place of @322 js:

Question ID : 59445929454
Status : Answered
Chosen Option : 3
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Q.16 The speed of a plane was raised by 60% by the pilot and then the raised speed was
reduced by 50%. The speed measured by the sonic radar at this point of time was 2400
km/h. Find the initial speed of the plane.

Ans X" 1.2400 km/h
75 2.3200 km/h
75 3.2800 km/h
o 4.3000 km/h

Question ID : 59445929450
Status : Answered
Chosen Option : 4

Q17 fa+b—-12+(Mm+c—92+(c+a—4)? <0, thenthevalue /(@ + b)° + (c + a)° — 1 is:

Ans X 1.7
28
X 39
X 46

Question ID : 59445929457
Status : Answered
Chosen Option : 2

Q.18 M can do a piece of work in 20 days. He works at it alone for 5 days and N alone
finishes the remaining work in 9 days. In how many days, both of them together can
complete the work ?

Ans " 1125 days

X 2. 10 days
/X 3.8days
o 4.7.5days

Question ID : 59445929441
Status : Answered
Chosen Option : 4

Q.19 In a lock making factory, 5 percent of the total produced locks were found defective
and 80 percent of the non-defective locks were exported. If 85500 non-defective locks
were not exported, then how many locks produced?

Ans X" 1475000
o 2. 450000
75 3.427500
75 4.395000

Question ID : 59445929444
Status : Answered
Chosen Option : 2
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Q.20 Aregular polvgon is having 4p + 2 as the number of its sides where p is a positive integer. What will be the ratio of
the measure of its interior angle to that of its exterior angle?

Ans X 1. p:2
K2p:l
K3l:p
vi42p:l

Question ID : 59445929453
Status : Answered
Chosen Option : 4

Section : Reasoning Logical aptitude

Q.1 Three statements are followed by four conclusions numbered I IL III and IV. You have to consider these statements to
be true, even if they seem at variance from commonly known facts, Decide which of the given conclusions logically(s)
follow from the given statements.

Statements:
1. All petrol are diesel.
2. No diesel is kerosene.
3. All fuels are kerosene.

Conclusions:
L Some fuels are petrol.
1L No kerosene is petrol.

III.  No petrol is fuel.

IV.  Some kerosene are petrol.

Ans 3 1. Only conclusions I. IT and IV follow.
/< 2. Only conclusions I and IV follow.
+ 3. Only conclusions II and III follow.
/< 4. Only conclusions I and II follow.

Question ID : 59445929477
Status : Answered
Chosen Option : 3

Q2 <7+ K’ means ‘T is the wife of K.
‘J— K’ means “J is the father of K.’
‘J »x K’ means ‘7J is the daughter of K’ and
‘T+ K’ means ‘J is the son of K".

If‘G+N=D+M-—5", then how is ‘" related to *5°?
Ans X 1. Niece
v 2. Sister
/< 3. Brother
/< 4. Aunt

Question ID : 59445929475
Status : Answered
Chosen Option : 2
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Q.3 Select the option in which the words shared the same relationship as that shared by
the given set of words (in the same order).

Hand : Finger : Ring
Ans X 1. Anklet : Foot : Ankle
x 2. Earring : Ear: Jewel
X 3. Cap : Head : Hair

“ 4. Face : Nose : Nose pin

Question ID : 59445929468
Status : Answered
Chosen Option : 4

Q.4 The criteria for selecting a Physics Teacher have been given as under:

The candidate must:

1. Have a masters degree in Physics with at least 60 percent marks.
2. Be a graduate in Physics with atleast 65 percent marks.

3. Be between 25 and 35 years old as on 01/01/2020.

4. Should have work experience of atleast 5 years.

The following exceptions apply:

A. If a candidate meets all other criteria except 4 above, the candidate will be referred
to the Principal.

B. A candidate whose age is more than 35 years but less than 40 years will be referred
to the Vice Principal.

Ritika has done her masters from XYZ University in Physics. She topped her batch
with 80 percent marks. She did her B.Sc in Physics from ABC College. She is 39 years
old. She has been teaching in MNO School for last 7 years.

What decision should be taken about this candidate?

Ans « 1. Data inadequate to make a decision.
X 2. The candidate should be rejected.
x 3. The candidate should be referred to the Vice Principal.

x 4. The candidate should be selected.

Question ID : 59445929474
Status : Not Answered
Chosen Option : --

Q.5 Sixfriends A, B, C, D, E and F are sitting around a circle facing the centre. B is sitting
second to the right of A. D is sitting second to the left of E.D is not an immediate
neighbor of A. Who is sitting to the immediate right of B?

Ans X1 F
X 2c
< 3.E
W 4D

Question ID : 59445929463
Status : Answered
Chosen Option : 4
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Q.6 If a mirror is placed on the line XY, then which of the answer figures is the mirror
image of the given figure?
X

Ans -
[
I
.| KN
x &

Question ID : 59445929462
Status : Answered
Chosen Option : 3

Q.7 In the following question, select the missing number from the given series.

567, 598, 635, 2, 719, 766
Ans  of 1 676

/X 2.636
75 3.666
/X 4.664

Question ID : 59445929476
Status : Answered
Chosen Option : 1
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Ans

Q.8 Find the wrong number in the following number series:

1250, 500, 200, 80, 30

o 1.30
/X 2.80
75 3.200
/X 4.500

Question ID : 59445929472
Status : Answered
Chosen Option : 2

Ans

Q.9 Arrange the given words in the sequence in which they occur in the dictionary.

1. OARIEST
2. OBELISE
3. OAFISHLY
4. OBIAS

5. OBEYER

K 1.32415
X 231245
/X 3.3,2,154
o 431254

Question ID : 59445929466
Status : Answered
Chosen Option : 4

Ans

Q.10 In the following question, select the related letters from the given alternatives.

KLMN : GIKM : : PQRS : ?

/X 1.DFSA
/< 2.vBDS
/X 3.FGDS
o 4 LNPR

Question ID : 59445929461
Status : Answered
Chosen Option : 4

Ans

below.

(HK, EH, BE)
75 1.K0,QM,SV
/X 2. PLLJJH
X 3. TRWY,ZW

o 4. ORLOIL

Q.11 Select the letter triad from the given options which follows the same relation as shown

Question ID : 59445929467
Status : Answered
Chosen Option : 4
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Q.12 Select the correct option to complete the following pattern.

N\
€4
HhY
xe L\
AN
| &

4

Ans

h

Question ID : 59445929470
Status : Answered
Chosen Option : 3
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Q.13 In the question two statements are given, followed by two conclusions, | and Il. You
have to consider the statements to be true even if it seems to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any,
follows from the given statements.

Statement 1 : All ships are boats.
Statement 2 : No cruise are ships.

Conclusion | : Some boats are cruise.
Conclusion Il : All cruise are boats.

Ans x 1. Only conclusion | follows
o 2. Neither I nor Il follows
75 3.Both I and Il follow

X 4. Only conclusion Il follows

Question ID : 59445929478
Status : Answered
Chosen Option : 2

Q.14 Three statements are followed by four conclusions numbered I IL. IIT and IV. You have to consider these statements to
be true, even if they seem at variance from commonly known facts, Decide which of the given conclusions logically
follow(s) from the given statements.

Statements:
1. Some cricketers are players.
2. All players are sportsmen.
3. Some sportsmen are not cricketers.

Conclusions:
L Some sportsmen are cricketers.
II. All cricketers are sportsmen.
III.  All players are cricketers.
IV.  No sportsman is a cricketer.

Ans X 1. Only conclusion IV follows.
#< 2. Only conclusions II and III follow.
v s Only conclusion I follows.
/< 4. Only conclusions I and IV follow.

Question ID : 59445929473
Status : Answered
Chosen Option : 3

Q.15 Five dancers of a dance troupe are standing on a stage facing north. Rohit is 30 m to
the right of Vikas. Somya is standing 30 m to the north of Vikas. Kaizen is standing 10
m to the left of Somya. Sanjay is standing to the south of Kaizen and left of Vikas. In
what direction is Kaizen standing with respect to Rohit, and what is the shortest
distance between them?

Ans " 1,50 m, south-east
« 2. 50 m, north-west
x 3. 30 m, north-west

X 4. 30 m, north

Question ID : 59445929479
Status : Answered
Chosen Option : 2
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Q.16 Select the letter triad from the given options which follows the same relation as shown
below.

(LNQ, PRU, TVY)

Ans  of 1. DFI, HIM, LNQ
#< 2. ACF, BDA, ZXU
/5 3.DBZ, YWT, UXZ
#< 4.CEF, ECZ, QOT

Question ID : 59445929464
Status : Answered
Chosen Option : 1

Q.17 Identify the diagram that best represents the relationship among the given classes.

Author, Mother, Female
Ans

F !

X3

00 B0

Question ID : 59445929469
Status : Answered
Chosen Option : 4
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Q.18 Which of the answer figures is the exact mirror image of the given problem figure when the mirror is
held at the right side?

Problem figure:

XN

A

Ans
@
v 1 /3N
S|e
b
@
q
X 2 1/
5|2
b

Question ID : 59445929480
Status : Answered
Chosen Option : 1

Q.19 In the following question, select the missing number from the given series.

1,17,23,7,35

Ans X 1.28
< 2.32
/X 3.31
W 420

Question ID : 59445929465
Status : Answered
Chosen Option : 4
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Q.20 Select the correct option to complete the following pattern.

Question Figure:
e
?
]
Ans
N
“ 1 [N
I
L~

r

K4 [

Question ID : 59445929471
Status : Answered
Chosen Option : 1

Section : English

Q.1 Identify the segment of the sentence which contains a grammatical error.

Not a single boy in the unruly class raised their hands before answering the question.
Ans x 1. Not a single boy

x 2. before answering the question.
x 3. in the unruly class

“ 4. raised their hands

Question ID : 59445929482
Status : Answered
Chosen Option : 4
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Q.2 Improve the bracketed part of the sentence. If there is no improvement, then select '‘No
improvement'.

It is high time that civilians (awake to) the dangers surrounding them.
Ans " 1. No improvement

X 2. awakens to

x 3. awakens on

J 4. wake up to

Question ID : 59445929485
Status : Answered
Chosen Option : 4

Q.3 Improve the bracketed part of the sentence. If there is no improvement, then select '‘No
improvement'.

Hardly had he finished his meal (and it started) raining.
Ans X 1. and rain started

x 2. than it started
X 3. No improvement

i 4. when it started

Question ID : 59445929491
Status : Answered
Chosen Option : 4

Q.4 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form
a meaningful and grammatically correct sentence.

While | was inside

P. struggling with maths and

Q. chemistry, my father was constructing a
R. the classroom in Cambodia,

S. temporary scaffolding on

the campus grounds.
Ans X 1. RPSQ

/X 2.RsQP
o 3.rRPQS

/X 4.PRQS

Question ID : 59445929489
Status : Answered
Chosen Option : 3

28/33



2/24/2021

Q.5 Which of the following is correctly spelt?
Ans J 1. Imperturbable

x 2. Imparturbable
X 3. Imperterbable
x 4. Impertarbable

Question ID : 59445929500
Status : Answered
Chosen Option : 4

A residence for nuns
Ans x 1. Arena

#< 2. Resort
“ 3. Convent

x 4. Monastery

Q.6 Choose the word that can substitute the given sentence.

Question ID : 59445929492
Status : Answered
Chosen Option : 3

The old man wished to donate his
downtrodden.

Ans X' 1. intense

x 2. elusive
X 3. eminent
“ 4. immense

Q.7 Fill in the blank with the most appropriate word.

wealth for the upliftment of the

Question ID : 59445929493
Status : Answered
Chosen Option : 4

Q.8 Which of the following is correctly spelt?

Ans x 1. Comencemment
J 2. Commencement
x 3. Commancement

X 4. Commencemant

Question ID : 59445929494
Status : Answered
Chosen Option : 2
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Q.9 Rearrange the parts of the sentence in correct order.

While infection can

P. potentially cause severe disease

Q. and can kill, timely treatment

R. with commonly available antibiotics
S. should clear the infection

Ans  of 1 PQRS

75 2.QSPR

75 3.QRPS
75 4.PSQR

Question ID : 59445929488
Status : Answered
Chosen Option : 4

Q.10 In the following question, some parts of the sentence may have errors. Select the
option that has the error. If the sentence has no error then select 'No Error'.

Population growth is leveling off in most areas due to rising affluence and advances to
women’s education and family planning.

Ans x 1. No Error
J 2. due to rising affluence and advances to
x 3. Population growth is leveling off in most areas

X 4. women'’s education and family planning.

Question ID : 59445929483
Status : Answered
Chosen Option : 4

Q.11 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.

The four most categories for public investment are shown in this table.

Ans X 1. intertwined

x 2. carved
J 3. propitious

x 4. wary

Question ID : 59445929487
Status : Answered
Chosen Option : 1
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Q.12 Identify the segment in the sentence which contains a grammatical error.

Freedom of speech is one of a fundamental right of every citizen.

Ans X" 1. Freedom of speech
J 2. a fundamental right

X 3. of every citizen.

x 4. is one of

Question ID : 59445929481
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate antonym of the given word.

CULMINATION
Ans X" 1 Acme

x 2. Top
x 3. Pinnacle
o 4. Nadir

Question ID : 59445929497
Status : Answered
Chosen Option : 1

Q.14 Choose the word that is opposite in meaning to the given word.

Profligate
Ans X" 1. Odious

X 2. Wasteful

( 3. Judicious

75 4. Prodigal

Question ID : 59445929499
Status : Answered
Chosen Option : 2

Q.15 Select the incorrectly spelt word.
Ans x 1. Congratulations

x 2. Hibernation
x 3. Antecedent

J 4. Precautionery

Question ID : 59445929495
Status : Answered
Chosen Option : 4
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Q.16 Select the most appropriate option to fill in the blank.

The National war memorial is to our Armed Forces.
Ans X" 1. inscribed

x 2. honoured

o 3. dedicated

x 4. consigned

Question ID : 59445929486
Status : Answered
Chosen Option : 3

Q.17 The sentence below has four parts (A, B, C, and D). One part has a grammatical error.
Identify the part.

Snow rafting is potentially (A)/ so dangerous that (B)/ any American resort will not (C)/
touch it with a bargepole. (D)

Ans X" 1. so dangerous that
x 2. Snow rafting is potentially
“ 3. any American resort will not

X 4. touch it with a bargepole.

Question ID : 59445929484
Status : Answered
Chosen Option : 3

Q.18 Arrange the jumbled sentences to make a meaningful paragraph.

A. Yet there is also no reason to despair.

B. None of this is true today as we fight the coronavirus pandemic.

C. The global financial crisis in 2008-09 was a massive demand shock, but our workers
could still go to work, our firms were coming off years of strong growth, our financial
system was largely sound, and our government finances were healthy.

D. Economically speaking, India is faced today with perhaps its greatest emergency
since Independence.

Ans  of 1 DCBA

/5 2.DCAB

75 3.DABC

/5 4.DBCA

Question ID : 59445929490
Status : Answered
Chosen Option : 1
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Q.19 Select the word which means the same as the group of given words.

Spoken or done without preparation.
Ans X 1. Uncontemporary

x 2. Temporary

J 3. Extemporary

x 4. Contemporary

Question ID : 59445929498
Status : Answered
Chosen Option : 3

Q.20 Select the most appropriate meaning of the underlined idiom in the given sentence.

We're finally at the end of the line with this project-now, we just have to hand it in and
pray for a good grade.

Ans X 1. An incomplete work
J 2. The final step of something
x 3. In the middle of something

/X 4. Atask that is finished

Question ID : 59445929496
Status : Answered
Chosen Option : 2
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Q.15 The given sentences have been jumbled up. Arrange these sentences in a meaningful

Ans

order.

P. There were some mangoes lying beside him.

Q. She looked at the mangoes longingly.

R. Romi was growing fast and was nearly always hungry.
S. Just as he was about to eat one, Kamla came along.

o 1.rRPSQ
75 2.RPQS
/5 3.PSQR
75 4.RSPQ

Question ID : 59445929591
Status : Answered
Chosen Option : 2

Q.16 Which of the following is incorrectly spelt?

Ans

x 1. Contrast
X 2. Dissimilarity
J 3. Contianment

X 4. Sanitaire

Question ID : 59445929595
Status : Answered
Chosen Option : 3

Q.17 The sentence below has four parts (A, B, C, and D). One part has a grammatical

Ans

error. Identify the part.

Modern political praxis (A)/ is thoroughly now (B)/ permeated with C)/ a productivist

ethos. (D)
x 1. Modern political praxis

J 2.is thoroughly now
X 3. a productivist ethos
X 4. permeated with

Question ID : 59445929584
Status : Answered
Chosen Option : 2

Q.18 Select the word that is opposite in meaning (ANTONYM) to the word given below

Ans

Apprise
X 1. Acquaint
J 2. Deceive
x 3. Inform

x 4. Enlighten

Question ID : 59445929594
Status : Answered
Chosen Option : 2




Q.19 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.

The Egyptian mongoose is mainly ______ , although it sometimes hunts during the
day.

Ans X1 avarice
X 2. substantial
J&nocturnal
X 4. pliant

Question ID : 59445929587
Status : Answered
Chosen Option : 1

Q.20 Inthe given question, four words are given out of which one word is correctly spelt.
Choose the correctly spelt word.

Ans X 1. Gorgious
X 2. Gorgeius
X 3. Gorgeuos
J 4. Gorgeous

Question ID : 59445929597
Status : Not Answered
Chosen Option : --
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Q.1 Who among the following was conferred with the Best Actor award at the
Dadasaheb Phalke Int ernational Film Festival in February 2020?

Ans X" 1. Abhay Deol
J 2. Hrithik Roshan

x 3. Sonu Sood

X 4. Sushant Singh Rajput

Question ID : 59445929501
Status : Answered
Chosen Option : 3

Q.2 Who among the following was appointed as the interim CEO of the Board of Control
for Cricket in India (BCCI) in July 2020?

Ans X" 1. Rahul Johri
X 2. Santosh Rangnekar
i 3. Hemang Amin

X 4. Sundar Raman

Question ID : 59445929502

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.3 Which one of the following Mars mission ended in 2019?

Ans X" 1. Phoenix
f 2. Opportunity
x 3. Curiosity
X 4. Odyssey

Question ID : 59445929507
Status : Answered
Chosen Option : 1




Q.4 InFebruary 2020, which of the following places was in-principle approved as a site of
a new Major Port?

Ans X 1. Dighi
o 2. vadhavan
75 3. Redi
/X 4. Jaigarh

Question ID : 59445929510
Status : Not Answered
Chosen Option : --

Q.5 Who among the following had been appointed as Managing Director and Chief
Financial Officer of the World Bank in July 2019?

Ans J 1. Anshula Kant
X 2. Muthulakshmi Reddi
x 3. Mallika Srinivasan

X 4. Vinita Bali

Question ID : 59445929509
Status : Answered
Chosen Option : 1

Q.6 Who among the following created a record for the longest single spaceflight by a
woman when she arrived back on Earth in February 2020?

Ans x 1. Peggy Whitson
( 2. Christina Koch
x 3. Valentina Tereshkova

X 4. Sally Ride

Question ID : 59445929503
Status : Answered
Chosen Option : 2

Q.7 Which of the following statements is true about AatmaNirbhar Bharat Abhiyaan?

(1) The scheme was announced in four tranches by the Prime Minister Sri Narendra
Modi in April 2020.

(2) The Prime Minister has announced a Rs. 20 lakh crore economic package under
the AatmaNirbhar Bharat Abhiyaan

Ans x 1.Both 1 and 2

x 2. Neither 1 nor 2

X 3.1 only
J 4.2 only

Question ID : 59445929515
Status : Not Answered
Chosen Option : --




Q.8 Which one of the following project was approved by the government to upgrade
Heron drones with laser-guided bombs and missiles?

Ans X" 1. Project Heron
X 2. Project Garud
J 3. Project Cheetah

X 4. Project Tiger

Question ID : 59445929508
Status : Not Answered
Chosen Option : --

Q.9 Who among the following has won Golden Globe 2020 award for “Best Performance
by an Actress in a Motion Picture — Drama”?

Ans X" 1. Beanie Feldstein
X 2. Cynthia Erivo
J 3. Renée Zellweger

X 4. Charlize Theron

Question ID : 59445929505
Status : Answered
Chosen Option : 3

Q.10 Match List-1 and List-2 and select the correct answer by using the code given below the list.

List-1 List-2

Name of the Author Name of the Book

A. Aravind Adiga 1. Milkman

B. Henri Charriere 2. A Tale of Two Cities
C. Charles Dickens 3. Papillon

D. Anna Burns 4. The White Tiger

Ans X" 1. A4,B-1,C3,D-1
75 2.A1,B2,C3,D4
o 3.A-4,B3,C2 D

75 4.A1,B3,C2,D4

Question ID : 59445929516
Status : Answered
Chosen Option : 3




Q.11 Match List-1 with List-2 and select the correct answer by using the code given below the list.

Ans

List-1 (Name of Government Scheme
launched in 2020)

List-2 (The Month of Launch)

A. Nagar Van Scheme

1. Tune

B. Padhna Likhna Abhivan

2. September

C. Production Linked Incentive (PLI)
Scheme

3. April

/X 1.A2,B1,C3
o 2.A1,B2,C3
/X 3.A1,B3,C2
/< 4.A2,B3,C1

Question ID : 59445929520
Status : Not Answered
Chosen Option : --

Q.12 Arrange the following persons in descending order as per the year in which they

Ans

received Rajiv Gandhi Khel Rat na.
A. Virat Kohli
B. Bajrang Punia

C. Sardara Singh
D. Rohit Sharma

o 1.0,8AC
/X 2.D,B,C A
/X 3.ABDC
/X 4.Cc,B,AD

Question ID : 59445929519
Status : Answered
Chosen Option : 1




Q.13 Match List-1 and List-2 and select the correct answer by using the code given below the list.

List-1 Company/Reserach Institute List-2 Country

A. AstraZeneca plc 1. Russia

B. Pfizer Inc 2. United States

C. The Gamaleya Research Institute of | 3. United Kingdom
Epidemiology and Microbiology

D. Sinovac Biotech Ltd. 4. China

Ans  off 1.A3,B2 C1,D4
/X 2.A2,B-1,C3,D4
75 3.A1,B4,C3,D2

/X 4.A1,B2,C4,D3

Question ID : 59445929518
Status : Not Answered
Chosen Option : --

Q.14 Which of the statement is/are correct about the three controversial farm laws
passed by the parliament in September 2020?

(A) In January 2021, the Supreme Court stayed the implementation of three
controversial farm laws,
(B) In January 2021, government proposed putting farm laws on hold for 2 years

(C) In January 2021, the Supreme Court had appointed a committee on the three
new farm laws

(D) In September 2020, Shiromani Akali Dal leader Harsimrat Kaur had resigned as
Union Minister for Food Processing.

Ans X1 A DandB
XZ.B,CandD
/X 3.ABandC

o 4.A CandD

Question ID : 59445929517
Status : Not Answered
Chosen Option : --

Q.15 Which of the following statements below mentioned events that happened in the
year 2020 is/are true?

(1) Railways renames Railway Protection Force as Indian Railway Public Protection
Force Service

(2) RBI launches 'MANI' app to help visually challenged to identify the denomination
of notes

Ans x 1. Neither 1 nor 2

75 2.Both 1and 2

x 3.1 only
{ 4.2 only

Question ID : 59445929513
Status : Not Answered
Chosen Option : --




Q.16 Which of the following statements about Subrahmanyam Jaishankar is/are correct?

(1) He was the then India’s ambassador to United State of America
(2) He led the negotiations for the India-US nuclear deal between 2006 and 2010.

Ans J 1.1 only
x 2.2 only

X 3. Neither 1 nor 2

#< 4.Both1and 2

Question ID : 59445929512
Status : Not Answered
Chosen Option : --

Q.17 Which of the following statement is / are correct?

(1) In the year 2020, badminton player Parupalli Kashyap received the prestigious
Arjuna Award.
(2) In the year 2020, MS Dhoni won the ICC Spirit of Cricket Award of the Decade.

Which of the statements given above is/are correct?
Ans X" 1 Both1and?2

x 2. Neither 1 nor 2

X 3.1 only
J 4.2 only

Question ID : 59445929511
Status : Not Answered
Chosen Option : --

Q.18 Which one of the following is the first ever Best Teacher's Award declared by All
India Council for Technical education in 2020?

Ans X" 1. ISTE-SGSITS National Award
J 2. Visvesvaraya Best Teachers Award
X 3. Global Teacher Award

x 4. Prof. V.KM. John National Award

Question ID : 59445929506
Status : Answered
Chosen Option : 3




Q.19 Which of the following statements is true about the Bharat Biotech International
Ltd.?

(1) Bharat Biotech has developed indigenous COVID-19 vaccine in collaboration with
the Indian Council of Medical Research (ICMR)
(2) Covishield is the brand name of Bharat Biotech COVID-19 vaccine.

Ans J 1.1 only

/5 2.Both 1and 2

X 3. Neither 1 nor 2

x 4.2 only

Question ID : 59445929514
Status : Answered
Chosen Option : 1

Q.20 Associations representing officers of Central Civil Services, including the Indian
Administrative Service (I1AS) and the Indian Police Service (IPS), have formed an

initiative called 'Caruna’ to support and supplement the government's efforts in
fighting:

Ans x 1. terrorism
J 2. coronavirus
x 3. insurgencies and separatism

X 4. atrocities against women

Question ID : 59445929504
Status : Answered
Chosen Option : 2

Section : General studies

Q.1 What is the minimum transfer limit for Real Time Gross Settlement (RTGS) as of
June 2020?

Ans  off 1 Rs2lakh
/X 2.Rs 2.5 lakh
75 3.Rs 1 lakh
/X 4.Rs 1.5 lakh

Question ID : 59445929528
Status : Answered
Chosen Option : 1




Q.2 Match List-1 with List-2 and select the correct answer using the codes given below the lists.

List-1 (Cricketer) List-2 (Debut vear in international test cricket match)
1. Sachin Tendulkar | A. 1990
2. Ajay Jadeja B. 1992
3. Rahul Dravid C. 1989
4. Anil Kumble D. 1996

Ans X 1. 1-C, 2-A, 3-B, 4-D
X 2 1-C,2-B,3-A, 4-D
X 3 1-B,2-C,3-D, 4-A
v 4 1-C,2-B,3-D, 4-A

Question ID : 59445929534
Status : Not Answered
Chosen Option : --

Q.3 Consider the following statements about the Constitution of India.

1. Article 41- Right to work, to education and to public assistance in certain cases.
2. Article 128- Official language or languages of a state.
3. Article 361- Protection of President and Governors and Rajpramulchs.

Which of the statements given above is/are correct?
Ans 1. land 3 only
7< 2. 2 and 3 only

/< 3. 1 only
X 4 1,2and3

Question ID : 59445929540
Status : Not Answered
Chosen Option : --

Q.4  Which among following statements about Satpura Range is/are comrect?

1. Mountain Range Satpura and Vindhya Found in the Eastern part of India.

2. The range, the name of which means “Seven Folds,” forms the watershed between the Narmada (north) and
Tapti (south) rivers.

3. It peaks more than 4,000 feet (1.200 metres) high, the Satpura Range includes the Mahadeo Hills to the
north. the Maikala Range to the east. and the Rajpipla Hills to the west.

Ans  of 1. 2and 3
/<2 land3
/< 3. 1 only
< 4. 2 only

Question ID : 59445929535
Status : Not Answered
Chosen Option : --




Q.5 The economic survey 2019-20 was chore to continue with the popular tradition of presenting the survey in two volumes:

I Volume II reviews recents developments in the major sectors of the economy and is supported by relevant statistical
tables and data.

II Volume I attempts to capture ideas that encapsulate "economic freedom and wealth creation.” provided evidence
based economic analyses of recent economic development to enable informed policy making.

Ans 2 1. ILonly
#< 2. Neither I and II
W3 IandII
/< 4. Ionly

Question ID : 59445929532
Status : Not Answered
Chosen Option : --

Q.6 In which year was the Khalsa tradition initiated?
Ans  of 1 1699

X 2.1696
75 3.1690
X 4.1692

Question ID : 59445929524
Status : Not Answered
Chosen Option : --

Q.7 Consider the following statements about the Kakori train conspiracy.

1. In the incident of Kakori, the main conspirator was Ram Prasad Bismil.
2. The Kakori train robbery incident took place 16 km away from Lucknow on 9 August 1924,

Which of the statements given above is/are correct?
Ans X 1. Neither 1 nor 2
/< 2 Both 1 and 2
/< 3. 2 only
+ 4 1 only

Question ID : 59445929531
Status : Not Answered
Chosen Option : --

Q.8 Mariana Trench, the deepest part of Earth, lies in the
Ans J 1. Pacific

x 2. Indian
X 3. Atlantic
x 4. Arctic

Ocean.

Question ID : 59445929525
Status : Answered
Chosen Option : 1




Q.9 The unit in which Electric Conductance is measured is

75 1.0hm
/< 2. Farad
o 3. Siemens
/X 4.Tesla

Ans

Question ID : 59445929521
Status : Answered
Chosen Option : 2

Q.10 Who is the author of 'My Unforgettable Memories'?

Ans J 1. Mamata Banerjee
x 2. Shashi Tharoor
x 3. Rahul Gandhi

x 4. Jawaharlal Nehru

Question ID : 59445929526
Status : Not Answered
Chosen Option : --

Q.11 Consider the following statements regarding Kuchipudi.

. Kuchipudi is one of the classical styles of Indian dance.
. Kuchipudi is a name of a village in Karnataka.

o bd

4, Usually, Jatiswaram is performed as the nritta number.
Which of the statements given above is/are correct?

< 1. 2 only

/<2 1,2and 3 only

« 3 1.3 and 4 only

< 4. 1 only

Ans

. It is a dance drama which was known under the generic name “Yakshagana’.

Question ID : 59445929537
Status : Answered
Chosen Option : 4

Q.12 Rajyavardhan Singh Rathore won a silver medal in 2004 Olympics for

( 1. shooting
x 2. boxing
x 3. tennis

x 4. wrestling

Ans

Question ID : 59445929529
Status : Not Answered
Chosen Option : --




Q.13 Which king of Magadha was called ‘the destroyer of all Kshatriyas'?
Ans X 1. Chandragupta

X 2. Ajatashatru
“ 3. Mahapadma Nanda
X 4.Bindusara

Question ID : 59445929523
Status : Not Answered
Chosen Option : --

Q.14 Which book has won the Rabindranath Tagore Literary Prize 2019?

Ans “ 1. Solo
x 2. Quichotte
x 3. Lethal White

x 4. Imperfect

Question ID : 59445929522
Status : Answered
Chosen Option : 2

Q.15 Consider the following statements about alluvial soils.

1. One of the most important and fertile soils of India they support the growth of a wide variety of crops such as rice,
wheat, sugarcane, cotton, jute. potato and vegetables.

2. Alluvium are fine particles of rock materials carried in suspension and later deposited by the river in its bed and bank.

3. Alluvial soils are not formed by the deposition of silt by the rivers.

Which of the statements given above is/are correct?

Ans %13 only
+ 2 1 and 2 only
/< 3. 1 only
K 4 1,2and3

Question ID : 59445929539
Status : Not Answered
Chosen Option : --




Q.16 Consider the following statements about natural phenomena.

1. Penitentes are formed in high altitudes where sunlight furns ice directly into water vapour rather than melting it to water.
2. During an eruption in volcanoes ash picks up so much friction that the build-up of static electricity causes lightming.
3

. Salar de Uyuni is the world's largest salt flat at 10582 km? and holds around half the world's reserves of lithium.
4. Fire rainbows are caused by fire or rain.

Which of the statements given above are correct?

Ans X 1. 1,2 and 4 only
2 1,2 and 3 only
<3 1,2,3and4
/< 4. 1,3 and 4 only

Question ID : 59445929538
Status : Not Answered
Chosen Option : --

Q.17 What does the term ‘carbon count” mean?
1. A measure of the amount of carbon dioxide you produce through your lifestyle every day.
2. A measure of the amount of carbon present on Earth.
3. A measure of the amount of carbon and carbon dioxide on Earth.

Select the correct answer using the code given below.

Ans X' 1. 1 and 2
W 2 1 only
/<3 1,2and3

/< 4. 2 only

Question ID : 59445929533
Status : Not Answered
Chosen Option : --

Q.18 The Hereileu song is known as the war song of which of the following states?
Ans X" 1. Arunachal Pradesh

( 2. Nagaland
x 3. Manipur
75 4. Sikkim

Question ID : 59445929527
Status : Not Answered
Chosen Option : --




Q.19 Phulaich is a colourful festival of the State of
Ans  off 1 Himachal Pradesh

x 2. Andhra Pradesh
x 3. Uttar Pradesh
X 4. Madhya Pradesh

Question ID : 59445929530
Status : Not Answered
Chosen Option : --

Q.20 Among the following statements which is/are correct.

. Plants convert energy from sunlight info food stored as carbohydrate's.
. Plants have chlorophyll.

. Plant cells do not have cell wall.

. Non -vascular plants grow very tall.

Ans  X'1.1,2and 4
2<21,2,3and 4
'3 1,2and 3
A 4 land?2

S

Question ID : 59445929536
Status : Answered
Chosen Option : 4

Section : Numerical aptitude




Q.1 The following pie chart shows the population of 5 states of India in 2010. What is
the population of Rajasthan if the total population of these 5 states is 162000007

Population of states in 2010

Punjab
18° Uttarakhand
120

Ans o 18100000
< 2.810000
534725000
< 4.540000

Question ID : 59445929547
Status : Answered
Chosen Option : 1

Q2 rfx>0andx! + x™! < 2, then what is the value of
EL x4+ @) 4+ 3+ x4+ L EY 4 ) g
Ans X" 14210
25 2.5234
X 3.4864
o 44004

Question ID : 59445929556
Status : Answered
Chosen Option : 4




Q.3

A sum of Rs. 20000 is invested for three years at compound interest. The rate of
interest for first year is 20 percent per annum, for second year it is 15 percent per
annum and for third years it is 10 percent per annum. Find the interest for the third
year.

Ans X' 1 Rs.2190
#< 2.Rs. 2620
o 3.Rs.2760
75 4.Rs. 2340
Question ID : 59445929558
Status : Not Answered
Chosen Option : --
Q.4 Abathtub can be filled by a cold pipe in 15 minutes and by a hot pipe in 10 minutes. A man opens both the taps at 7 a.m.
and leaves the bathroom. He returns at the time when the tub was expected to be full, but he observes that the waste pipe
in the bottom was open and the tub was not full. He now closes it, and it takes 4 more minutes before the tank is full.
After using the bathtub for 10 minutes, he opens the waste pipe. At what time will the tub be empty?
Ans

< 1. 33 minutes past 7 a.m.
7% 2. 31 minutes past 7 a.m.
« 3. 29 minutes past 7 a.m.

/< 4. 27 minutes past 7 a.m.

Question ID : 59445929542

Status : Not Answered

Chosen Option : --




Q.5 Which of the given frequency polygons represents the following frequency distribution?

Ans

Class 4-8 | 8-12 | 12-16|16-20|20-24
Frequency 2 4 5 3 2
&
5
4
i3
2
1
o
0 4 B 12 16 20 M4 28
&
&
4
K2 3
2
1
0
0 4 8 12 16 20 24 23
3
5
4
X3
2
1
0 : .
¢ 4 8 12 16 20 M 28
[
5
4
X4
2
1
0L “a-
0 4 8 12 16 20 24 23

Question ID : 59445929541
Status : Answered
Chosen Option : 1




Q.6

2

If b is the mean proportion to a and ¢ with a common ratio |-, then

(a—b)2: (b—c)? is:
Ans X' 1.3:2

K 2101

o323

K412

Foy

Question ID : 59445929554
Status : Not Answered
Chosen Option : --

Q.7 Population of a city is 148000 and out of which 78000 are males and 40 percent
population is literate. If 55 percent males are literate, then what is the number of
females who are literate?

Ans X" 114200

75 2.18500
/< 3.15800
o 416300

Question ID : 59445929559
Status : Answered
Chosen Option : 4

Q.8 Five bells commence tolling together and toll at intervals of 2,4,9,12 and 15
seconds respectively. In 45 minutes, how many times do they toll together?

Ans X' 1.8
5 2.10
o 316
X 415

Question ID : 59445929545
Status : Answered
Chosen Option : 3

Q.9 A=1200 - X where X is a real number. A > 0 and A is divisible by 3, 5,7 and 11. The
sum of the two largest possible value of Xis:

Ans X' 145
/< 2.55
/X 3.-1110
o 4. -1065

Question ID : 59445929548
Status : Not Answered
Chosen Option : --




Q.10 A chord, at a distance of 1 unit from the centre, has a length equal to k?sin G) and the radius of the circle is

(—k)sin G) What is the value of k. if k is an integer?

Ans X' 1.4
K 2.2
s —2
X 43

Question ID : 59445929552
Status : Not Answered
Chosen Option : --

Q.11 Tpe expression ( X — ] W x— ﬁ ) goes through its minima at the value of x = a. Find the value of 2a — \@.

Ans X1'O
X2 2
X 3.1
v W)

Question ID : 59445929551
Status : Not Answered
Chosen Option : --

Q.12 Find the average of first 50 natural numbers.
Ans X' 1.50.15

/X 2.2075
/X 3.513
of 4255

Question ID : 59445929557
Status : Answered
Chosen Option : 4

Q.13 Raushan can complete the wall putty work in 6 days and Satyam can complete it in
12 days. While working together with Raghu, they completed the job in 2 days only. In
how many days Raghu alone can complete the job?

Ans X' 1.8Days
x 2.6 days
o 3.4Days
/5 4.12Days

Question ID : 59445929555
Status : Answered
Chosen Option : 3




Q.14 The price of petrolrises by 60%. By what percentage should one minimise the use of
petrol so that the expenditure towards petrolis not affected?

Ans K" 1.385

/X 2.36.5
W 3375
/X 4.355

Question ID : 59445929549
Status : Not Answered
Chosen Option : --

Q.15 Afixed sum is lent out in two parts in such a way that the interest on the first part
at 1 percent for 1 year is equal to that on the second part at 2% for 2 years. Find
the square root of the ratio of the first part to the second part.

Ans  of 12
X 2.3
X 3.4
X 41

Question ID : 59445929553
Status : Not Answered
Chosen Option : --

Q.16 Studythe table below and answer the question that follows. What is the average
number of workers in IT team for the time span 2011 to 2014?

Ans X' 1.8
K212
W 3.0
X 4.9

Question ID : 59445929543
Status : Answered
Chosen Option : 3

Q.17

Ans X132

Question ID : 59445929550
Status : Answered
Chosen Option : 2




Q.18 The graph shows the temperature variance of a city in degree celsius. Which month
has seen the highest spike in temperature over the previous month, in terms of
percentage?

Ans X" 1 March
o 2. Apiil
x 3. January

x 4. February

Question ID : 59445929544
Status : Not Answered
Chosen Option : --

Q.19 Length of arectangle is 7cm more than its breadth and length of diagonal of the
rectangle is 13 cm. What is the area of a square having perimeter same as the
perimeter of given rectangle?

Ans X" 1.56.25 cm?
o 2.72.25 cm?
75 3.36.25 cm?
/X 4.42.25 cm?

Question ID : 59445929560
Status : Not Answered
Chosen Option : --

Q.20 Abus is travelling at a constant speed of 48 Km/hr. What is the distance travelled by
bus from 1:20 pm to 3:40 pm?

Ans " 1.326 Km
X 2.144Km
75 3.340Km

o 4.112Km

Question ID : 59445929546
Status : Not Answered
Chosen Option : --

Section : Reasoning Logical aptitude

Q.1 Inthe following question, select the related letters from the given alternatives.
ABC :HGF ::XYZ :?
Ans X" 1 GHY

/X 2.DFG
75 3.FGR
o 2.EDC

Question ID : 59445929561
Status : Answered
Chosen Option : 4




Q.2 If amirroris placed on the line XY, which of the answer figure is the mirror image of
the figure given below.

Ans X1.

Question ID : 59445929562
Status : Answered
Chosen Option : 4

Q.3 Inthe following question, select the odd figure from the given alternatives.

Ans x1_
X2
X3
v o

Question ID : 59445929571
Status : Answered
Chosen Option : 4

Q.4

Ans ( 1.

Question ID : 59445929580
Status : Answered
Chosen Option : 3

Q.5 If ‘A’ means ‘+’, ‘B’ means ‘-’, ‘C’ means ‘+’ and ‘D’ means ‘x’,then32C 19B44A11D
2=?

Ans X1 41
X 2.45
X 3.47
o 443

Question ID : 59445929565
Status : Answered
Chosen Option : 4




Q.6 Vimalis shorter to Vikram and taller than Rakesh, Raviis Shorter to Vinay and taller

than Vikram. Find the third tallest person?
Ans X' 1 Rakesh

75 2. Ravi
f 3. Vikram
75 4.Vinay

Question ID : 59445929563
Status : Answered
Chosen Option : 3

Q.7 Inthe following question, select the odd group of nhumbers from the given
alternatives.

Ans X" 1.(11,15,23)
/5 2.(43, 47, 55)
o 3.(13,17,29)
75 4.(31,35,43)

Question ID : 59445929564
Status : Answered
Chosen Option : 3

Q.8 Find the wrong term in the following series

DWIK, HUML, LSQM, PQUN, TOXO
Ans " 1. PQUN

/X 2.1sqMm
o 3.Tox0
/X 4 HUML

Question ID : 59445929578
Status : Answered
Chosen Option : 3

Q.9

Ans “ 1.

Question ID : 59445929579
Status : Answered
Chosen Option : 1




Q.10 Among five persons Sunny, Swati, Somya, Surbhi and Sapna; Swati was elder to
Somya but younger to Sunny. Surbhi was elder to Sunny who was elder to Sapna who
was not the youngest. Who among them was the youngest?

Ans X 1 Sunny
o 2. somya
/5 3.Surbhi
/X 4.Swati

Question ID : 59445929575
Status : Answered
Chosen Option : 2

Q.11 Which of the following cubes can be formed by folding the given figure?

Ans x 1.

Question ID : 59445929570
Status : Answered
Chosen Option : 4

Q.12 Inthe following figure, Rhombus represents Authors, Circle represents Poets and

triangle represents Actors. Which set of letters represents Poets who are neither
Actors nor Authors?

Ans X' 1b
Kz.e
W 3a
X 4.d

Question ID : 59445929569
Status : Answered
Chosen Option : 3




Ans

decide which of the arguments is a “strong” argument and which is a “weak”
argument. Give answer.

Statement:
Should robots replace astronauts in space missions?

Arguments:

I. Yes, this will save the precious life of human beings.
1. No, this will make space missions more expensive.

x 1. Neither I nor Il is ‘strong’.
x 2.Both land Il are ‘strong’.
J 3. Only argument | is ‘strong’.

x 4. 0nly argument Il is ‘strong”:

Q.13 Question given below is followed by two arguments numbered | and Il. You have to

Question ID : 59445929572
Status : Not Answered
Chosen Option : --

Q.14 Which of the following option will come in place of '?'.

Ans X114

X 2.13

X 3.15

o 412

Question ID : 59445929568
Status : Answered
Chosen Option : 4

Q.15
Ans

Question ID : 59445929573

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.16 Inthe question, below are three statements followed by four conclusions numbered
I, 11, 11, and IV. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given

conclusions, if any, follows from the given statements.

Statements:

I. Some Mirrors are not Glasses.

1. All Glasses are Strong.
Ill. Some Strong are Fragile.

Conclusions:

I. Some Mirrors may be glasses.
Il. Some Glasses are Fragile.

I1l. All Mirrors are Strong.

IV. Some Mirrors are Fragile.

Ans X 1. Conclusion Il and Il only
«. 2. Conclusion | only
x 3. Conclusion land Il only

X 4. Conclusion lll and IV only

Question ID : 59445929567
Status : Answered
Chosen Option : 2

Q.17 If the HCF of two numbers is 55 and the LCM is 110, then what are the two

numbers?
Ans X 1.11,110

/X 2.10,55
o 3.55110
/X 4.11,55

Question ID : 59445929576
Status : Answered
Chosen Option : 3




Q.18 ABC Company has decided to recruit equity research analyst. The candidate must

1. Be a graduate in any discipline with 70 percent marks

2. Be between 25 and 40 years old as on 01/01/2020.

3. Must have completed CFA and FRM.

4. Have knowledge of at least two programming languages like R, SQL, Tableau etc.

The following exceptions apply:

A. If a candidate meets all other criteria except 4 above, the candidat e will be
referred to the Manager.

B. A candidate whose age is more than 40 years but less than 45 years will be
referred to the General Manager.

Ashish is working at Citi Bank for 5 years now. He was born on 5/02/1992. He has
completed his CFA and FRM in 2015. He has done certified courses on R
Programming and SQL from Udemy. He did his B.Com (H) from HIJ College and
scored 80 percent marks.

What decision should be taken about this candidate?

Ans x 1. The candidate should be rejected.
x 2. The candidate should be referred to the General Manager.
« 3. The candidate should be selected.

x 4.The candidate should be referred to the Manager.

Question ID : 59445929577
Status : Answered
Chosen Option : 3

Q.19 Which letter-cluster will replace the question mark (?) in the following series?

GXB, JVD, MTF, PRH, ?
Ans X 1 RPJ

W 2.sp
/5 3.Rral
X 4.s5QJ

Question ID : 59445929566
Status : Answered
Chosen Option : 2

Q.20 Kishore, Aashay, Swapan, Atul, Varun and Harshit are sitting around a round table
facing the centre. Varun is to the right of Kishore, who is opposite Atul, Swapan is
neither next to Aashay nor Harshit, Harshit is opposite Varun. Who is to the right of
Harshit?

Ans X 1 Kishore
75 2.Swapan
X 3. Al
of 4 Aashay

Question ID : 59445929574
Status : Answered
Chosen Option : 4

Section : English




Q.1 Find the part of the given sentence that has an error init. If there is no error,
choose ‘No error’.

Any portion of the underground rhizome when broken of (1)/is capable of producing
a new plant; hence the (2)/ difficulty of eradicating them when once established. (3)/
No Error (4)

Ans x 1. No Error

J 2. Any portion of the underground rhizome when broken of
x 3. difficulty of eradicating them when once established.

X 4.is capable of producing a new plant; hence the

Question ID : 59445929583
Status : Answered
Chosen Option : 2

Q.2 Select the most appropriate meaning of the underlined idiom in the given sentence.

Quit banging the drum for that candidate, he is simply not qualified for the job.
Ans X 1. To criticize

J 2. To voice on€’s support

X 3. To compel

x 4.To be aggressive

Question ID : 59445929596
Status : Answered
Chosen Option : 2

Q.3 Inthe following question, some parts of the sentence may have errors. Find out
which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

Neither the severe earthquake or the subsequent famine could demoralise the
people of the country.

Ans x 1. could demoralise the people of the country.
X 2. Neither the severe earthquake

(3Aorthe subsequent famine

X 4. No error

Question ID : 59445929582
Status : Answered
Chosen Option : 3

Q.4 Choose the word that is opposite in meaning to the given word.

Ludicrous
Ans J 1. Humorless

X 2. Jovial
x 3. Profuse

X 4. Whimsical

Question ID : 59445929599
Status : Not Answered
Chosen Option : --




Q.5 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no
correction required' if the sentence is correct as given.

Arepublic is a form of government (where country is considered a) "public matter",
not the private concern or property of the rulers.

Ans X" 1. No Correction Required

< 2

in which country is considering a

v &3

in which the country is considered a

F

where the country is to be considered an

Question ID : 59445929588
Status : Answered
Chosen Option : 3

Q.6 The following four parts need to be reordered to form a coherent and grammatical
sentence. Indicate the correct order.

a. theillusion that

b. the original painting still hangs
c. the world is still under

d. in the Winter Palace

Ans 5" 1. ACDB

/5 2.ABCD
7% 3.BACD
o 4.caBD

Question ID : 59445929590
Status : Answered
Chosen Option : 4

Q.7 Choose the word that can substitute the given sentence.

The study of human races
Ans & 1 Entomology

J 2. Ethnology
X 3. Ethology
x 4. Etymology

Question ID : 59445929600
Status : Answered
Chosen Option : 3




Q.8 Asentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.

Either he or | leading the team tomorrow.

Ans X' 1is
X 2. are
W 3.am
X 4. were

Question ID : 59445929586
Status : Answered
Chosen Option : 3

Q.9 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no
correction required' if the sentence is correct as given.

The ability to read old Sanskrit scriptures (in today's world seems like a lost art).
Ans ( 1. No correction required

X 2.in todays' world seems like a lost art
x 3.in today's world seem like a lost art.

X 4.in today's world seem like an lost art

Question ID : 59445929585
Status : Answered
Chosen Option : 1

Q.10 Select the most appropriate option to substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No improvement’.

There are many health related benefits in becoming active and participating_in local
sport and recreational activity.

Ans X 1. becomes active and participates
J 2. No improvement
x 3. becoming active and participating

X 4. become active and participate in

Question ID : 59445929592
Status : Answered
Chosen Option : 4

Q.11 Out of all the alternatives given, select the word which closely fits the given
idiom/phrase.

A blessing in disguise
Ans x 1.to not judge someone or something based solely on appearance.
X 2.to describe exactly what is causing a situation or problem.
x 3. not feeling good.

( 4. a misfortune that eventually results in something good happening later on.

Question ID : 59445929598
Status : Answered
Chosen Option : 4




Q.12 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to
form a meaningful and grammatically correct sentence.

Science progresses by

P. or by experimentation,

Q. collection of observations
R. whereas pseudo sciences do
S. not worry about

observation and experiments.
Ans X 1.QSPR

o 2.aPrs
/< 3.RPQS
75 4.QRPS

Question ID : 59445929589

Status : Answered

Chosen Option : 2

Q.13 Choose the word that can substitute the given sentence.

Not fit to eat
Ans X 1 Inevitable

J 2. Inedible

X 3. Gourmet

x 4. Potable

Question ID : 59445929593

Status : Answered

Chosen Option : 2

Q.14 Find the part of the given sentence that has an error init. If there is no error,
choose ‘No error’.

She has being (1)/ trying to call (2)/ her mother since morning. (3)/ No error (4)
Ans X 1. No error

( 2. She has being

X 3. her mother since morning.

x 4. trying to call

Question ID : 59445929581

Status : Not Answered

Chosen Option : --




Q.15 The given sentences have been jumbled up. Arrange these sentences in a meaningful

Ans

order.

P. There were some mangoes lying beside him.

Q. She looked at the mangoes longingly.

R. Romi was growing fast and was nearly always hungry.
S. Just as he was about to eat one, Kamla came along.

o 1.rRPSQ
75 2.RPQS
/5 3.PSQR
75 4.RSPQ

Question ID : 59445929591
Status : Answered
Chosen Option : 2

Q.16 Which of the following is incorrectly spelt?

Ans

x 1. Contrast
X 2. Dissimilarity
J 3. Contianment

X 4. Sanitaire

Question ID : 59445929595
Status : Answered
Chosen Option : 3

Q.17 The sentence below has four parts (A, B, C, and D). One part has a grammatical

Ans

error. Identify the part.

Modern political praxis (A)/ is thoroughly now (B)/ permeated with C)/ a productivist

ethos. (D)
x 1. Modern political praxis

J 2.is thoroughly now
X 3. a productivist ethos
X 4. permeated with

Question ID : 59445929584
Status : Answered
Chosen Option : 2

Q.18 Select the word that is opposite in meaning (ANTONYM) to the word given below

Ans

Apprise
X 1. Acquaint
J 2. Deceive
x 3. Inform

x 4. Enlighten

Question ID : 59445929594
Status : Answered
Chosen Option : 2




Q.19 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.

The Egyptian mongoose is mainly ______ , although it sometimes hunts during the
day.

Ans X1 avarice
X 2. substantial
J&nocturnal
X 4. pliant

Question ID : 59445929587
Status : Answered
Chosen Option : 1

Q.20 Inthe given question, four words are given out of which one word is correctly spelt.
Choose the correctly spelt word.

Ans X 1. Gorgious
X 2. Gorgeius
X 3. Gorgeuos
J 4. Gorgeous

Question ID : 59445929597
Status : Not Answered
Chosen Option : --
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